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T 5 Pvi
PH1 P2
A T aE T A"
K Wg K
T 5 i i
PH2 P3
 Bsrssrn 1Pg
t R Pv2
R
L kT l P4
-3.1
1 2 3
0.175 x DO
A 0.50 0.50 0.50
y kN/m3 20.000 20.000 20.000
y' kN/m3 11.000 11.000 11.000
kN/m? 0.00 0.00 0.00
@ ° 30 30 30
MN/m3 20.00 20.00 20.00
GL- 5.000 5.000 5.000
Hwv 5.000 5.000 5.000
Hwh 5.000 5.000 5.000
Hwi m 3.000 8.000
Yy w kN/m3 10.000 10.000 10.000
Pvi kN/m3 128.100 56.831 128.100
( ) PH1 kN/m3 55.462 19.828 55.462
( ) PH2 kN/m3 108.162 72.528 108.162
Pv2 kN/m3 128.100 56.831 128.100
Wy kN/m3 3.904 3.904 3.904
Pg kN/m3 12.265 12.265 12.265
q kN/m3 0.000 0.000 0.000
P1 kN -30.000 -80.000
P2 kN -30.000 -80.000
P3 kN -64.000 -114.000
P4 kN -64.000 -114.000
1.00 1.00 1.00
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X Y X Y
(m) (m) (m) (m)
1 0.000 1.700 19 0.000 -1.700
2 0.295 1.674 20 -0.295 -1.674
3 0.581 1.598 21 -0.581 -1.598
4 0.850 1.472 22 -0.850 -1.472
) 1.093 1.302 23 -1.093 -1.302
6 1.302 1.093 24 -1.302 -1.093
7 1.472 0.850 25 -1.472 -0.850
8 1.598 0.581 26 -1.598 -0.581
9 1.674 0.295 27 -1.674 -0.295
10 1.700 0.000 28 -1.700 0.000
11 1.674 -0.295 29 -1.674 0.295
12 1.598 -0.581 30 -1.598 0.581
13 1.472 -0.850 31 -1.472 0.850
14 1.302 -1.093 32 -1.302 1.093
15 1.093 -1.302 33 -1.093 1.302
16 0.850 -1.472 34 -0.850 1.472
17 0.581 -1.598 35 -0.581 1.598
18 0.295 -1.674 36 -0.295 1.674

RC




N S/ N NS/ NS/ Y/ S/ -

Pvi kN/m2 0.000
PH1 kN/m2 0.000
PH2 kN/m2 0.000
Pv2 kN/m2 0.000
Wy kN/m?2 3.904
Pg kN/m? 12.265
q kN/m2 0.000

RC




ds = 0.297(m)

Pvi = 0.000 (kN/m2)

PH1 = 0.000 (kN/m?)

PH2 = 0.000 (KN/m2)

Pv2 = 0.000 (kN/m2)
m Wy = 3.904 (kN/m?)

Pg = 12.265 (kN/m2)

g = 0.000 (kN/m2)

Y Y

(kN/m) (kN/m) kN/m) (kN/m)
1 1 0.000 -0.579 19 19 0.000 1.231
1 2 0.000 -0.579 19 20 0.000 1.231
2 2 0.000 -0.579 20 20 0.000 1.176
2 3 0.000 -0.579 20 21 0.000 1.176
3 3 0.000 -0.579 21 21 0.000 1.068
3 4 0.000 -0.579 21 22 0.000 1.068
4 4 0.000 -0.579 22 22 0.000 0.909
4 5 0.000 -0.579 22 23 0.000 0.909
5 5 0.000 -0.579 23 23 0.000 0.706
5 6 0.000 -0.579 23 24 0.000 0.706
6 6 0.000 -0.579 24 24 0.000 0.463
6 7 0.000 -0.579 24 25 0.000 0.463
7 7 0.000 -0.579 25 25 0.000 0.189
7 8 0.000 -0.579 25 26 0.000 0.189
8 8 0.000 -0.579 26 26 0.000 -0.109
8 9 0.000 -0.579 26 27 0.000 -0.109
9 9 0.000 -0.579 27 27 0.000 -0.421
9 10 0.000 -0.579 27 28 0.000 -0.421
10 10 0.000 -0.421 28 28 0.000 -0.579
10 11 0.000 -0.421 28 29 0.000 -0.579
11 11 0.000 -0.109 29 29 0.000 -0.579
11 12 0.000 -0.109 29 30 0.000 -0.579
12 12 0.000 0.189 30 30 0.000 -0.579
12 13 0.000 0.189 30 31 0.000 -0.579
13 13 0.000 0.463 31 31 0.000 -0.579
13 14 0.000 0.463 31 32 0.000 -0.579
14 14 0.000 0.706 32 32 0.000 -0.579
14 15 0.000 0.706 32 33 0.000 -0.579
15 15 0.000 0.909 33 33 0.000 -0.579
15 16 0.000 0.909 33 34 0.000 -0.579
16 16 0.000 1.068 34 34 0.000 -0.579
16 17 0.000 1.068 34 35 0.000 -0.579
17 17 0.000 1.176 35 35 0.000 -0.579
17 18 0.000 1.176 35 36 0.000 -0.579
18 18 0.000 1.231 36 36 0.000 -0.579
18 19 0.000 1.231 36 1 0.000 -0.579
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®3) [ I (
Y X
(m) (m) (m) (m) (m) (m)

1 0.000000 0.000195 0.000000 1

2 0.000002 0.000213 0.000121 1 36 -0.000002 0.000213 -0.000121 1
3 0.000015 0.000264 0.000229 1 35 -0.000015 0.000264 -0.000229 1
4 0.000050 0.000338 0.000314 1 34 -0.000050 0.000338 -0.000314 1
5 0.000108 0.000421 0.000365 1 33 -0.000108 0.000421 -0.000365 1
6 0.000186 0.000500 0.000377 1 32 -0.000186 0.000500 -0.000377 1
7 0.000275 0.000562 0.000346 1 31 -0.000275 0.000562 -0.000346 1
8 0.000359 0.000601 0.000274 1 30 -0.000359 0.000601 -0.000274 1
9 0.000422 0.000619 0.000166 1 29 -0.000422 0.000619 -0.000166 1
10 0.000452 0.000622 0.000034 1 28 -0.000452 0.000622 -0.000034 1
11 0.000442 0.000624 -0.000108 1 27 -0.000442 0.000624 0.000108 1
12 0.000391 0.000638 -0.000242 1 26 -0.000391 0.000638 0.000242 1
13 0.000311 0.000676 -0.000349 0 25 -0.000311 0.000676 0.000349 0
14 0.000218 0.000742 -0.000413 0 24 -0.000218 0.000742 0.000413 0
15 0.000130 0.000831 -0.000425 0 23 -0.000130 0.000831 0.000425 0
16 0.000061 0.000930 -0.000381 0 22 -0.000061 0.000930 0.000381 0
17 0.000019 0.001021 -0.000286 0 21 -0.000019 0.001021 0.000286 0
18 0.000002 0.001084 -0.000153 0 20 -0.000002 0.001084 0.000153 0
19 0.000000 0.001107 0.000000 0
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4) [ 1(
M(KN m) QkN) N(kN) M(KN m) QkN) N(kN)
1 1 3.887 -0.672 -1.033 | 36 1 3.887 0.672 -1.033
1 2 3.688 -0.672 -1.033 | 36 36 3.688 0.672 -1.033
2 2 3.688 ~1.960 -0.601| 35 36 3.688 1.960 -0.601
2 3 3.108 -1.960 -0.601| 35 35 3.108 1.960 -0.601
3 3 3.108 -3.084 0.238] 34 35 3.108 3.084 0.238
3 4 2.194 -3.084 0.238] 34 34 2.194 3.084 0.238
4 4 2.194 -3.945 1.434| 33 34 2.194 3.945 1.434
4 5 1.025 -3.945 1.434| 33 33 1.025 3.945 1.434
5 5 1.025 ~4.455 2917 32 33 1.025 4.455 2.917
5 6 -0.296 -4.455 2917 32 32 -0.296 4.455 2.917
6 6 -0.296 -4.545 4595 | 31 32 -0.296 4.545 4.595
6 7 -1.642 -4.545 4595 | 31 31 -1.642 4.545 4.595
7 7 -1.642 -4.169 6.363| 30 31 -1.642 4.169 6.363
7 8 -2.878 -4.169 6.363| 30 30 -2.878 4.169 6.363
8 8 -2.878 -3.300 8.110 | 29 30 -2.878 3.300 8.110
8 9 -3.855 -3.300 8.110 | 29 29 -3.855 3.300 8.110
9 9 -3.855 -1.941 9.714| 28 29 -3.855 1.941 9.714
9 10 -4.431 -1.941 9.714| 28 28 -4.431 1.941 9.714
10 10 -4.431 -0.139 10.900 | 27 28 -4.431 0.139 10.900
10 11 “4.472 -0.139 10.900 | 27 27 ~4.472 0.139 10.900
11 11 ~4.472 1.894 11.270 | 26 27 ~4.472 -1.894 11.270
11 12 -3.911 1.894 11.270 | 26 26 -3.911 -1.894 11.270
12 12 -3.911 3.789 10.696 | 25 26 -3.911 -3.789 10.696
12 13 -2.788 3.789 10.696 | 25 25 -2.788 -3.789 10.696
13 13 -2.788 5.213 9343 24 25 -2.788 -5.213 9.343
13 14 -1.243 5.213 9343 24 24 -1.243 -5.213 9.343
14 14 -1.243 5.930 7469 23 24 -1.243 -5.930 7.469
14 15 0.514 5.930 7.469| 23 23 0.514 -5.930 7.469
15 15 0.514 5.815 5398 | 22 23 0.514 -5.815 5.398
15 16 2.237 5.815 5398 | 22 22 2.237 -5.815 5.398
16 16 2.237 4.871 3473 21 22 2.237 -4.871 3.473
16 17 3.681 4.871 3473 21 21 3.681 -4.871 3.473
17 17 3.681 3.232 1.993| 20 21 3.681 -3.232 1.993
17 18 4.638 3.232 1.993] 20 20 4.638 -3.232 1.993
18 18 4.638 1.132 1.191] 19 20 4.638 -1.132 1.191
18 19 4.974 1.132 1.191] 19 19 4.974 -1.132 1.191
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1

Kh(kN/m?) ks(kn/m?) ds(m) ds kh(kN/m?) | ds ks(kN/m?)
1 0.000 0.000 0.297 0.000 0.000
2 0.000 0.000 0.297 0.000 0.000
3 0.000 0.000 0.297 0.000 0.000
4 0.000 0.000 0.297 0.000 0.000
5 0.000 0.000 0.297 0.000 0.000
6 20000.000 6667.000 0.297 5934.119 1978.139
7 20000.000 6667.000 0.297 5934.119 1978.139
8 20000.000 6667.000 0.297 5934.119 1978.139
9 20000.000 6667.000 0.297 5934.119 1978.139
10 20000.000 6667.000 0.297 5934.119 1978.139
11 20000.000 6667.000 0.297 5934.119 1978.139
12 20000.000 6667.000 0.297 5934.119 1978.139
13 20000.000 6667.000 0.297 5934.119 1978.139
14 20000.000 6667.000 0.297 5934.119 1978.139
15 0.000 0.000 0.297 0.000 0.000
16 0.000 0.000 0.297 0.000 0.000
17 0.000 0.000 0.297 0.000 0.000
18 0.000 0.000 0.297 0.000 0.000
19 0.000 0.000 0.297 0.000 0.000
20 0.000 0.000 0.297 0.000 0.000
21 0.000 0.000 0.297 0.000 0.000
22 0.000 0.000 0.297 0.000 0.000
23 0.000 0.000 0.297 0.000 0.000
24 20000.000 6667.000 0.297 5934.119 1978.139
25 20000.000 6667.000 0.297 5934.119 1978.139
26 20000.000 6667.000 0.297 5934.119 1978.139
27 20000.000 6667.000 0.297 5934.119 1978.139
28 20000.000 6667.000 0.297 5934.119 1978.139
29 20000.000 6667.000 0.297 5934.119 1978.139
30 20000.000 6667.000 0.297 5934.119 1978.139
31 20000.000 6667.000 0.297 5934.119 1978.139
32 20000.000 6667.000 0.297 5934.119 1978.139
33 0.000 0.000 0.297 0.000 0.000
34 0.000 0.000 0.297 0.000 0.000
35 0.000 0.000 0.297 0.000 0.000
36 0.000 0.000 0.297 0.000 0.000
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Pvi kN/m2 128.100
PH1 kN/m2 55.462
PH2 kN/m2 108.162
Pv2 kN/m2 128.100
Wy kN/m?2 0.000
Pg kN/m? 0.000
q kN/m2 0.000

RC




1< 1
ds = 0.297(m)
Pvi = 128.100 (kN/m2)
PH1 = 55.462 (KN/m?)
PH2 = 108.162 (kN/m?)
Pva = 128.100 (kN/m?)
m Wy = 0.000 (kN/m2)
Pg = 0.000 (kN/m2)
g = 0.000 (kN/m2)
X
Y Y
(kN/m) (kN/m) (kN/m) (kN/m)
1 1 -0.717 -18.908 19 19 1.394 18.908
1 2 -0.719 -18.908 19 20 1.391 18.908
2 2 -2.154 -18.331 20 20 4.121 18.331
2 3 -2.176 -18.331 20 21 4.098 18.331
3 3 -3.605 -17.204 21 21 6.646 17.204
3 4 -3.665 -17.204 21 22 6.586 17.204
4 4 -5.067 -15.545 22 22 8.832 15.545
4 5 -5.179 -15.545 22 23 8.721 15.545
5 5 -6.544 -13.425 23 23 10.604 13.425
5 6 -6.714 -13.425 23 24 10.434 13.425
6 6 -7.987 -10.882 24 24 11.869 10.882
6 7 -8.215 -10.882 24 25 11.641 10.882
7 7 -9.358 -8.025 25 25 12.617 8.025
7 8 -9.637 -8.025 25 26 12.337 8.025
8 8 -10.576 -4.913 26 26 12.838 4.913
8 9 -10.894 -4.913 26 27 12.521 4.913
9 9 -11.569 -1.652 27 27 12.582 1.652
9 10 -11.907 -1.652 27 28 12.244 1.652
10 10 -12.244 1.652 28 28 11.907 -1.652
10 11 -12.582 1.652 28 29 11.569 -1.652
11 11 -12.521 4.913 29 29 10.894 -4.913
11 12 -12.838 4.913 29 30 10.576 -4.913
12 12 -12.337 8.025 30 30 9.637 -8.025
12 13 -12.617 8.025 30 31 9.358 -8.025
13 13 -11.641 10.882 31 31 8.215 -10.882
13 14 -11.869 10.882 31 32 7.987 -10.882
14 14 -10.434 13.425 32 32 6.714 -13.425
14 15 -10.604 13.425 32 33 6.544 -13.425
15 15 -8.721 15.545 33 33 5.179 -15.545
15 16 -8.832 15.545 33 34 5.067 -15.545
16 16 -6.586 17.204 34 34 3.665 -17.204
16 17 -6.646 17.204 34 35 3.605 -17.204
17 17 -4.098 18.331 35 35 2.176 -18.331
17 18 -4.121 18.331 35 36 2.154 -18.331
18 18 -1.391 18.908 36 36 0.719 -18.908
18 19 -1.394 18.908 36 1 0.717 -18.908
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®) [ 1 ( 1
|
X Y X
(m) (m) (m) (m) (m) (m)

1 0.000000 -0.001989 0.000000 0
2 -0.000001 -0.001892 0.000640 0 36 0.000001 -0.001892 -0.000640 0
3 0.000061 -0.001626 0.001178 0 35 -0.000061 -0.001626 -0.001178 0
4 0.000224 -0.001253 0.001528 0 34 -0.000224 -0.001253 -0.001528 0
5 0.000488 -0.000857 0.001647 0 33 -0.000488 -0.000857 -0.001647 0
6 0.000817 -0.000511 0.001536 1 32 -0.000817 -0.000511 -0.001536 1
7 0.001150 -0.000263 0.001237 1 31 -0.001150 -0.000263 -0.001237 1
8 0.001422 -0.000122 0.000812 1 30 -0.001422 -0.000122 -0.000812 1
9 0.001582 -0.000066 0.000322 1 29 -0.001582 -0.000066 -0.000322 1
10 0.001602 -0.000051 -0.000172 1 28 -0.001602 -0.000051 0.000172 1
11 0.001484 -0.000028 -0.000622 1 27 -0.001484 -0.000028 0.000622 1
12 0.001255 0.000047 -0.000989 1 26 -0.001255 0.000047 0.000989 1
13 0.000957 0.000200 -0.001245 1 25 -0.000957 0.000200 0.001245 1
14 0.000644 0.000434 -0.001371 1 24 -0.000644 0.000434 0.001371 1
15 0.000364 0.000731 -0.001353 0 23 -0.000364 0.000731 0.001353 0
16 0.000156 0.001048 -0.001183 0 22 -0.000156 0.001048 0.001183 0
17 0.000036 0.001332 -0.000876 0 21 -0.000036 0.001332 0.000876 0
18 -0.000005 0.001529 -0.000465 0 20 0.000005 0.001529 0.000465 0
19 0.000000 0.001599 0.000000 0

RC



©) [ 1( 1
M(KN m) QkN) N(kN) M(KN m) QkN) N(kN)
1 1 20.915 -5.761 151.241 | 36 1 20.915 5.761 151.241
1 2 19.207 -5.761 151.241 | 36 36 19.207 5.761 151.241
2 2 19.207 -16.104 156.806 | 35 36 19.207 16.104 156.806
2 3 14.435 -16.104 156.806 | 35 35 14.435 16.104 156.806
3 3 14.435 -23.261 167.002 | 34 35 14.435 23.261 167.002
3 4 7.542 -23.261 167.002 | 34 34 7.542 23.261 167.002
4 4 7.542 -25.789 180.133 | 33 34 7.542 25.789 180.133
4 5 -0.100 -25.789 180.133 | 33 33 -0.100 25.789 180.133
5 5 -0.100 -22.871 194.069 | 32 33 -0.100 22.871 194.069
5 6 -6.877 -22.871 194.069 | 32 32 -6.877 22.871 194.069
6 6 -6.877 ~16.701 204.920 | 31 32 -6.877 16.701 204.920
6 7 -11.826 -16.701 204.920 | 31 31 -11.826 16.701 204.920
7 7 -11.826 -10.083 213.281| 30 31 -11.826 10.083 213.281
7 8 -14.814 -10.083 213.281| 30 30 -14.814 10.083 213.281
8 8 -14.814 -3.499 218.538 | 29 30 -14.814 3.499 218.538
8 9 -15.851 -3.499 218.538 | 29 29 -15.851 3.499 218.538
9 9 -15.851 2.384 220.536 | 28 29 -15.851 -2.384 220.536
9 10 -15.144 2.384 220.536 | 28 28 -15.144 -2.384 220.536
10 10 -15.144 7.066 219.609 | 27 28 -15.144 ~7.066 219.609
10 11 -13.050 7.066 219.609 | 27 27 -13.050 ~7.066 219.609
11 11 -13.050 10.545 216.409 | 26 27 -13.050 -10.545 216.409
11 12 -9.925 10.545 216.409 | 26 26 -9.925 -10.545 216.409
12 12 -9.925 12.911 211.739 | 25 26 -9.925 12,911 211.739
12 13 -6.100 12.911 211.739 | 25 25 -6.100 12,911 211.739
13 13 ~6.100 14.516 206.376 | 24 25 ~6.100 -14.516 206.376
13 14 -1.798 14.516 206.376 | 24 24 -1.798 -14.516 206.376
14 14 -1.798 16.060 200.880 | 23 24 -1.798 -16.060 200.880
14 15 2.961 16.060 200.880 | 23 23 2.961 -16.060 200.880
15 15 2.961 15.905 194.251 | 22 23 2.961 -15.905 194.251
15 16 7.674 15.905 194.251 | 22 22 7.674 -15.905 194.251
16 16 7.674 13.149 188.679 | 21 22 7.674 -13.149 188.679
16 17 11571 13.149 188.679 | 21 21 11571 -13.149 188.679
17 17 11.571 8.628 184.704 | 20 21 11571 -8.628 184.704
17 18 14.127 8.628 184.704 | 20 20 14.127 -8.628 184.704
18 18 14.127 3.017 182.644 | 19 20 14.127 -3.017 182.644
18 19 15.021 3.017 182.644 | 19 19 15.021 -3.017 182.644
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(10) ( 1 )
[
M(KN m) QkN) N(kN) M(KN m) QkN) N(kN)
1 1 24.802 -6.433 150.208 | 36 1 24.802 6.433 150.208
1 2 22.895 -6.433 150.208 | 36 36 22.895 6.433 150.208
2 2 22.895 -18.064 156.205 | 35 36 22.895 18.064 156.205
2 3 17.543 -18.064 156.205 | 35 35 17.543 18.064 156.205
3 3 17.543 -26.345 167.240 | 34 35 17.543 26.345 167.240
3 4 9.736 -26.345 167.240 | 34 34 9.736 26.345 167.240
4 4 9.736 -29.734 181.567 | 33 34 9.736 29.734 181.567
4 5 0.925 -29.734 181.567 | 33 33 0.925 29.734 181.567
5 5 0.925 -27.326 196.986 | 32 33 0.925 27.326 196.986
5 6 -7.173 -27.326 196.986 | 32 32 -7.173 27.326 196.986
6 6 7173 -21.246 209.515 | 31 32 -7.173 21.246 209.515
6 7 -13.468 -21.246 209515 | 31 31 -13.468 21.246 209.515
7 7 -13.468 -14.252 219.644 | 30 31 -13.468 14.252 219.644
7 8 -17.692 -14.252 219.644 | 30 30 -17.692 14.252 219.644
8 8 -17.692 -6.799 226.648 | 29 30 -17.692 6.799 226.648
8 9 -19.706 -6.799 226.648 | 29 29 -19.706 6.799 226.648
9 9 -19.706 0.443 230.250 | 28 29 -19.706 -0.443 230.250
9 10 -19.575 0.443 230.250 | 28 28 -19.575 -0.443 230.250
10 10 -19.575 6.927 230.509 | 27 28 -19.575 -6.927 230.509
10 11 -17.522 6.927 230509 | 27 27 -17.522 -6.927 230.509
11 11 -17.522 12.439 227.679| 26 27 -17.522 -12.439 227.679
11 12 -13.836 12.439 227.679| 26 26 -13.836 -12.439 227.679
12 12 -13.836 16.700 222.435| 25 26 -13.836 -16.700 222.435
12 13 -8.888 16.700 222.435| 25 25 -8.888 -16.700 222.435
13 13 -8.888 19.729 215.719 | 24 25 -8.888 -19.729 215.719
13 14 -3.041 19.729 215.719 | 24 24 -3.041 -19.729 215.719
14 14 -3.041 21.990 208.349 | 23 24 -3.041 -21.990 208.349
14 15 3.475 21.990 208.349 | 23 23 3.475 -21.990 208.349
15 15 3.475 21.720 199.649 | 22 23 3.475 -21.720 199.649
15 16 9.911 21.720 199.649 | 22 22 9.911 -21.720 199.649
16 16 9.911 18.020 192.152 | 21 22 9.911 -18.020 192.152
16 17 15.252 18.020 192.152 | 21 21 15.252 -18.020 192.152
17 17 15.252 11.860 186.697 | 20 21 15.252 -11.860 186.697
17 18 18.765 11.860 186.697 | 20 20 18.765 -11.860 186.697
18 18 18.765 4.149 183.835 | 19 20 18.765 -4.149 183.835
18 19 19.995 4.149 183.835 | 19 19 19.995 -4.149 183.835
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=24.802 (kN m)
=-19.706 (kN m)

= 150.208 (kN)
= 226.648 (kN)

-29.734 (kN)
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N S/ N NS/ NS/ Y/ S/ -

Pvi kN/m2 0.000
PH1 kN/m2 0.000
PH2 kN/m2 0.000
Pv2 kN/m2 0.000
Wy kN/m?2 3.904
Pg kN/m? 12.265
q kN/m2 0.000

RC

16



I( 2

ds = 0.297(m)

Pvi = 0.000 (kN/m2)

PH1 = 0.000 (kN/m?)

PH2 = 0.000 (KN/m2)

Pv2 = 0.000 (kN/m2)
m Wy = 3.904 (kN/m?)

Pg = 12.265 (kN/m2)

g = 0.000 (kN/m2)

Y Y

(kN/m) (kN/m) kN/m) (kN/m)
1 1 0.000 -0.579 19 19 0.000 1.231
1 2 0.000 -0.579 19 20 0.000 1.231
2 2 0.000 -0.579 20 20 0.000 1.176
2 3 0.000 -0.579 20 21 0.000 1.176
3 3 0.000 -0.579 21 21 0.000 1.068
3 4 0.000 -0.579 21 22 0.000 1.068
4 4 0.000 -0.579 22 22 0.000 0.909
4 5 0.000 -0.579 22 23 0.000 0.909
5 5 0.000 -0.579 23 23 0.000 0.706
5 6 0.000 -0.579 23 24 0.000 0.706
6 6 0.000 -0.579 24 24 0.000 0.463
6 7 0.000 -0.579 24 25 0.000 0.463
7 7 0.000 -0.579 25 25 0.000 0.189
7 8 0.000 -0.579 25 26 0.000 0.189
8 8 0.000 -0.579 26 26 0.000 -0.109
8 9 0.000 -0.579 26 27 0.000 -0.109
9 9 0.000 -0.579 27 27 0.000 -0.421
9 10 0.000 -0.579 27 28 0.000 -0.421
10 10 0.000 -0.421 28 28 0.000 -0.579
10 11 0.000 -0.421 28 29 0.000 -0.579
11 11 0.000 -0.109 29 29 0.000 -0.579
11 12 0.000 -0.109 29 30 0.000 -0.579
12 12 0.000 0.189 30 30 0.000 -0.579
12 13 0.000 0.189 30 31 0.000 -0.579
13 13 0.000 0.463 31 31 0.000 -0.579
13 14 0.000 0.463 31 32 0.000 -0.579
14 14 0.000 0.706 32 32 0.000 -0.579
14 15 0.000 0.706 32 33 0.000 -0.579
15 15 0.000 0.909 33 33 0.000 -0.579
15 16 0.000 0.909 33 34 0.000 -0.579
16 16 0.000 1.068 34 34 0.000 -0.579
16 17 0.000 1.068 34 35 0.000 -0.579
17 17 0.000 1.176 35 35 0.000 -0.579
17 18 0.000 1.176 35 36 0.000 -0.579
18 18 0.000 1.231 36 36 0.000 -0.579
18 19 0.000 1.231 36 1 0.000 -0.579
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®3) [ I (
Y X
(m) (m) (m) (m) (m) (m)

1 0.000000 0.000195 0.000000 1

2 0.000002 0.000213 0.000121 1 36 -0.000002 0.000213 -0.000121 1
3 0.000015 0.000264 0.000229 1 35 -0.000015 0.000264 -0.000229 1
4 0.000050 0.000338 0.000314 1 34 -0.000050 0.000338 -0.000314 1
5 0.000108 0.000421 0.000365 1 33 -0.000108 0.000421 -0.000365 1
6 0.000186 0.000500 0.000377 1 32 -0.000186 0.000500 -0.000377 1
7 0.000275 0.000562 0.000346 1 31 -0.000275 0.000562 -0.000346 1
8 0.000359 0.000601 0.000274 1 30 -0.000359 0.000601 -0.000274 1
9 0.000422 0.000619 0.000166 1 29 -0.000422 0.000619 -0.000166 1
10 0.000452 0.000622 0.000034 1 28 -0.000452 0.000622 -0.000034 1
11 0.000442 0.000624 -0.000108 1 27 -0.000442 0.000624 0.000108 1
12 0.000391 0.000638 -0.000242 1 26 -0.000391 0.000638 0.000242 1
13 0.000311 0.000676 -0.000349 0 25 -0.000311 0.000676 0.000349 0
14 0.000218 0.000742 -0.000413 0 24 -0.000218 0.000742 0.000413 0
15 0.000130 0.000831 -0.000425 0 23 -0.000130 0.000831 0.000425 0
16 0.000061 0.000930 -0.000381 0 22 -0.000061 0.000930 0.000381 0
17 0.000019 0.001021 -0.000286 0 21 -0.000019 0.001021 0.000286 0
18 0.000002 0.001084 -0.000153 0 20 -0.000002 0.001084 0.000153 0
19 0.000000 0.001107 0.000000 0

RC



4) [ 1( )
M(KN m) QkN) N(kN) M(KN m) QkN) N(kN)
1 1 3.887 -0.672 -1.033 | 36 1 3.887 0.672 -1.033
1 2 3.688 -0.672 -1.033 | 36 36 3.688 0.672 -1.033
2 2 3.688 ~1.960 -0.601| 35 36 3.688 1.960 -0.601
2 3 3.108 -1.960 -0.601| 35 35 3.108 1.960 -0.601
3 3 3.108 -3.084 0.238] 34 35 3.108 3.084 0.238
3 4 2.194 -3.084 0.238] 34 34 2.194 3.084 0.238
4 4 2.194 -3.945 1.434| 33 34 2.194 3.945 1.434
4 5 1.025 -3.945 1.434| 33 33 1.025 3.945 1.434
5 5 1.025 ~4.455 2917 32 33 1.025 4.455 2.917
5 6 -0.296 -4.455 2917 32 32 -0.296 4.455 2.917
6 6 -0.296 -4.545 4595 | 31 32 -0.296 4.545 4.595
6 7 -1.642 -4.545 4595 | 31 31 -1.642 4.545 4.595
7 7 -1.642 -4.169 6.363| 30 31 -1.642 4.169 6.363
7 8 -2.878 -4.169 6.363| 30 30 -2.878 4.169 6.363
8 8 -2.878 -3.300 8.110 | 29 30 -2.878 3.300 8.110
8 9 -3.855 -3.300 8.110 | 29 29 -3.855 3.300 8.110
9 9 -3.855 -1.941 9.714| 28 29 -3.855 1.941 9.714
9 10 -4.431 -1.941 9.714| 28 28 -4.431 1.941 9.714
10 10 -4.431 -0.139 10.900 | 27 28 -4.431 0.139 10.900
10 11 “4.472 -0.139 10.900 | 27 27 ~4.472 0.139 10.900
11 11 ~4.472 1.894 11.270 | 26 27 ~4.472 -1.894 11.270
11 12 -3.911 1.894 11.270 | 26 26 -3.911 -1.894 11.270
12 12 -3.911 3.789 10.696 | 25 26 -3.911 -3.789 10.696
12 13 -2.788 3.789 10.696 | 25 25 -2.788 -3.789 10.696
13 13 -2.788 5.213 9343 24 25 -2.788 -5.213 9.343
13 14 -1.243 5.213 9343 24 24 -1.243 -5.213 9.343
14 14 -1.243 5.930 7469 23 24 -1.243 -5.930 7.469
14 15 0.514 5.930 7.469| 23 23 0.514 -5.930 7.469
15 15 0.514 5.815 5398 | 22 23 0.514 -5.815 5.398
15 16 2.237 5.815 5398 | 22 22 2.237 -5.815 5.398
16 16 2.237 4.871 3473 21 22 2.237 -4.871 3.473
16 17 3.681 4.871 3473 21 21 3.681 -4.871 3.473
17 17 3.681 3.232 1.993| 20 21 3.681 -3.232 1.993
17 18 4.638 3.232 1.993] 20 20 4.638 -3.232 1.993
18 18 4.638 1.132 1.191] 19 20 4.638 -1.132 1.191
18 19 4.974 1.132 1.191] 19 19 4.974 -1.132 1.191
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1

1

Kh(kN/m?) ks(kn/m?) ds(m) ds kh(kN/m?) | ds ks(kN/m?)
1 0.000 0.000 0.297 0.000 0.000
2 0.000 0.000 0.297 0.000 0.000
3 0.000 0.000 0.297 0.000 0.000
4 0.000 0.000 0.297 0.000 0.000
5 0.000 0.000 0.297 0.000 0.000
6 20000.000 6667.000 0.297 5934.119 1978.139
7 20000.000 6667.000 0.297 5934.119 1978.139
8 20000.000 6667.000 0.297 5934.119 1978.139
9 20000.000 6667.000 0.297 5934.119 1978.139
10 20000.000 6667.000 0.297 5934.119 1978.139
11 20000.000 6667.000 0.297 5934.119 1978.139
12 20000.000 6667.000 0.297 5934.119 1978.139
13 20000.000 6667.000 0.297 5934.119 1978.139
14 0.000 0.000 0.297 0.000 0.000
15 0.000 0.000 0.297 0.000 0.000
16 0.000 0.000 0.297 0.000 0.000
17 0.000 0.000 0.297 0.000 0.000
18 0.000 0.000 0.297 0.000 0.000
19 0.000 0.000 0.297 0.000 0.000
20 0.000 0.000 0.297 0.000 0.000
21 0.000 0.000 0.297 0.000 0.000
22 0.000 0.000 0.297 0.000 0.000
23 0.000 0.000 0.297 0.000 0.000
24 0.000 0.000 0.297 0.000 0.000
25 20000.000 6667.000 0.297 5934.119 1978.139
26 20000.000 6667.000 0.297 5934.119 1978.139
27 20000.000 6667.000 0.297 5934.119 1978.139
28 20000.000 6667.000 0.297 5934.119 1978.139
29 20000.000 6667.000 0.297 5934.119 1978.139
30 20000.000 6667.000 0.297 5934.119 1978.139
31 20000.000 6667.000 0.297 5934.119 1978.139
32 20000.000 6667.000 0.297 5934.119 1978.139
33 0.000 0.000 0.297 0.000 0.000
34 0.000 0.000 0.297 0.000 0.000
35 0.000 0.000 0.297 0.000 0.000
36 0.000 0.000 0.297 0.000 0.000
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Pv1 kN/m2 56.831
PH1 kN/m2 19.828
PH2 kN/m2 72.528
Pv2 kN/m2 56.831
Wy kN/m?2 0.000
Pg kN/m? 0.000

q kN/m2 0.000

RC



1< 2

ds = 0.297(m)

Pvi = 56.831 (kN/m?)

PH1 = 19.828 (KN/m?)

PH2 = 72.528 (kN/m2)

Pv2 = 56.831 (kN/m2)
m Wy = 0.000 (kN/m2)

Pg = 0.000 (kN/m2)

g = 0.000 (kN/m2)

Y Y

(kN/m) (kN/m) kN/m) (kN/m)
1 1 -0.257 -8.388 19 19 0.934 8.388
1 2 -0.260 -8.388 19 20 0.932 8.388
2 2 -0.787 -8.133 20 20 2.755 8.133
2 3 -0.810 -8.133 20 21 2.732 8.133
3 3 -1.372 -7.632 21 21 4.414 7.632
3 4 -1.433 -7.632 21 22 4.353 7.632
4 4 -2.040 -6.896 22 22 5.805 6.896
4 5 -2.152 -6.896 22 23 5.694 6.896
5 5 -2.809 -5.956 23 23 6.870 5.956
5 6 -2.979 -5.956 23 24 6.700 5.956
6 6 -3.663 -4.828 24 24 7.545 4.828
6 7 -3.891 -4.828 24 25 7.317 4.828
7 7 -4.572 -3.560 25 25 7.831 3.560
7 8 -4.852 -3.560 25 26 7.552 3.560
8 8 -5.477 -2.179 26 26 7.739 2.179
8 9 -5.795 -2.179 26 27 7.422 2.179
9 9 -6.309 -0.733 27 27 7.322 0.733
9 10 -6.647 -0.733 27 28 6.985 0.733
10 10 -6.985 0.733 28 28 6.647 -0.733
10 11 -7.322 0.733 28 29 6.309 -0.733
11 11 -7.422 2.179 29 29 5.795 -2.179
11 12 -7.739 2.179 29 30 5.477 -2.179
12 12 -7.552 3.560 30 30 4.852 -3.560
12 13 -7.831 3.560 30 31 4.572 -3.560
13 13 -7.317 4.828 31 31 3.891 -4.828
13 14 -7.545 4.828 31 32 3.663 -4.828
14 14 -6.700 5.956 32 32 2.979 -5.956
14 15 -6.870 5.956 32 33 2.809 -5.956
15 15 -5.694 6.896 33 33 2.152 -6.896
15 16 -5.805 6.896 33 34 2.040 -6.896
16 16 -4.353 7.632 34 34 1.433 -7.632
16 17 -4.414 7.632 34 35 1.372 -7.632
17 17 -2.732 8.133 35 35 0.810 -8.133
17 18 -2.755 8.133 35 36 0.787 -8.133
18 18 -0.932 8.388 36 36 0.260 -8.388
18 19 -0.934 8.388 36 1 0.257 -8.388
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23

®) [ 1 ( 2 )
|
X Y X
(m) (m) (m) (m) (m) (m)

1 0.000000 -0.000626 0.000000 0
2 -0.000001 -0.000593 0.000218 0 36 0.000001 -0.000593 -0.000218 0
3 0.000018 -0.000503 0.000393 0 35 -0.000018 -0.000503 -0.000393 0
4 0.000071 -0.000380 0.000493 0 34 -0.000071 -0.000380 -0.000493 0
5 0.000153 -0.000255 0.000502 0 33 -0.000153 -0.000255 -0.000502 0
6 0.000247 -0.000153 0.000426 1 32 -0.000247 -0.000153 -0.000426 1
7 0.000332 -0.000086 0.000290 1 31 -0.000332 -0.000086 -0.000290 1
8 0.000386 -0.000055 0.000126 1 30 -0.000386 -0.000055 -0.000126 1
9 0.000397 -0.000046 -0.000037 1 29 -0.000397 -0.000046 0.000037 1
10 0.000364 -0.000043 -0.000171 1 28 -0.000364 -0.000043 0.000171 1
11 0.000300 -0.000032 -0.000261 1 27 -0.000300 -0.000032 0.000261 1
12 0.000220 -0.000004 -0.000301 1 26 -0.000220 -0.000004 0.000301 1
13 0.000141 0.000039 -0.000298 1 25 -0.000141 0.000039 0.000298 1
14 0.000075 0.000092 -0.000263 0 24 -0.000075 0.000092 0.000263 0
15 0.000030 0.000145 -0.000210 0 23 -0.000030 0.000145 0.000210 0
16 0.000004 0.000192 -0.000150 0 22 -0.000004 0.000192 0.000150 0
17 -0.000006 0.000227 -0.000093 0 21 0.000006 0.000227 0.000093 0
18 -0.000005 0.000248 -0.000044 0 20 0.000005 0.000248 0.000044 0
19 0.000000 0.000255 0.000000 0

RC



©) [ 1( 2 )
M(KN m) QkN) N(kN) M(KN m) QkN) N(kN)
1 1 7.181 -2.403 68.850 | 36 1 7.181 2.403 68.850
1 2 6.469 -2.403 68.850 | 36 36 6.469 2.403 68.850
2 2 6.469 -6.630 71.486 | 35 36 6.469 6.630 71.486
2 3 4.504 -6.630 71.486 | 35 35 4.504 6.630 71.486
3 3 4.504 -9.318 76.238 | 34 35 4.504 9.318 76.238
3 4 1.743 -9.318 76.238 | 34 34 1.743 9.318 76.238
4 4 1.743 -9.852 82.185| 33 34 1.743 9.852 82.185
4 5 -1.176 -9.852 82.185| 33 33 -1.176 9.852 82.185
5 5 -1.176 -8.018 88.227 | 32 33 -1.176 8.018 88.227
5 6 -3.552 -8.018 88.227 | 32 32 -3.552 8.018 88.227
6 6 -3.552 ~4.779 92.807 | 31 32 -3.552 4.779 92.807
6 7 -4.968 -4.779 92.807 | 31 31 -4.968 4.779 92.807
7 7 -4.968 -1.317 95.905 | 30 31 -4.968 1.317 95.905
7 8 -5.359 -1.317 95.905| 30 30 -5.359 1.317 95.905
8 8 -5.359 1.841 97.361| 29 30 -5.359 -1.841 97.361
8 9 -4.813 1.841 97.361| 29 29 -4.813 -1.841 97.361
9 9 -4.813 4.139 97.381| 28 29 -4.813 -4.139 97.381
9 10 -3.586 4.139 97.381| 28 28 -3.586 -4.139 97.381
10 10 -3.586 5.228 96.476 | 27 28 -3.586 -5.228 96.476
10 11 -2.037 5.228 96.476 | 27 27 -2.037 -5.228 96.476
11 11 -2.037 5.143 95.300 | 26 27 -2.037 -5.143 95.300
11 12 -0.513 5.143 95.300 | 26 26 -0.513 -5.143 95.300
12 12 -0.513 4.122 94.468 | 25 26 -0.513 -4.122 94.468
12 13 0.708 4122 94.468 | 25 25 0.708 -4.122 94.468
13 13 0.708 2.631 94.395 | 24 25 0.708 -2.631 94.395
13 14 1.488 2.631 94395 | 24 24 1.488 -2.631 94.395
14 14 1.488 1.295 94.949 | 23 24 1.488 -1.295 94.949
14 15 1.871 1.295 94.949 | 23 23 1.871 -1.295 94.949
15 15 1.871 0.040 96.202 | 22 23 1.871 -0.040 96.202
15 16 1.883 0.040 96.202 | 22 22 1.883 -0.040 96.202
16 16 1.883 -0.742 97.801| 21 22 1.883 0.742 97.801
16 17 1.663 -0.742 97.801| 21 21 1.663 0.742 97.801
17 17 1.663 -0.814 99.264 | 20 21 1.663 0.814 99.264
17 18 1.422 -0.814 99.264 | 20 20 1.422 0.814 99.264
18 18 1.422 -0.331 100.129 | 19 20 1.422 0.331 100.129
18 19 1.324 -0.331 100.129 | 19 19 1.324 0.331 100.129
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1 1
Kh(kN/m?) ks(kn/m?) ds(m) ds kh(kN/m?) | ds ks(kN/m?)

1 0.000 0.000 0.297 0.000 0.000
2 0.000 0.000 0.297 0.000 0.000
3 0.000 0.000 0.297 0.000 0.000
4 0.000 0.000 0.297 0.000 0.000
5 0.000 0.000 0.297 0.000 0.000
6 0.000 0.000 0.297 0.000 0.000
7 0.000 0.000 0.297 0.000 0.000
8 0.000 0.000 0.297 0.000 0.000
9 20000.000 6667.000 0.297 5934.119 1978.139
10 20000.000 6667.000 0.297 5934.119 1978.139
11 20000.000 6667.000 0.297 5934.119 1978.139
12 20000.000 6667.000 0.297 5934.119 1978.139
13 20000.000 6667.000 0.297 5934.119 1978.139
14 20000.000 6667.000 0.297 5934.119 1978.139
15 20000.000 6667.000 0.297 5934.119 1978.139
16 20000.000 6667.000 0.297 5934.119 1978.139
17 20000.000 6667.000 0.297 5934.119 1978.139
18 20000.000 6667.000 0.297 5934.119 1978.139
19 20000.000 6667.000 0.297 5934.119 1978.139
20 20000.000 6667.000 0.297 5934.119 1978.139
21 20000.000 6667.000 0.297 5934.119 1978.139
22 20000.000 6667.000 0.297 5934.119 1978.139
23 20000.000 6667.000 0.297 5934.119 1978.139
24 20000.000 6667.000 0.297 5934.119 1978.139
25 20000.000 6667.000 0.297 5934.119 1978.139
26 20000.000 6667.000 0.297 5934.119 1978.139
27 20000.000 6667.000 0.297 5934.119 1978.139
28 20000.000 6667.000 0.297 5934.119 1978.139
29 20000.000 6667.000 0.297 5934.119 1978.139
30 0.000 0.000 0.297 0.000 0.000
31 0.000 0.000 0.297 0.000 0.000
32 0.000 0.000 0.297 0.000 0.000
33 0.000 0.000 0.297 0.000 0.000
34 0.000 0.000 0.297 0.000 0.000
35 0.000 0.000 0.297 0.000 0.000
36 0.000 0.000 0.297 0.000 0.000
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(11)

P1
L N
P3
vy g,
P1 kN/m?2 -30.000
P2 kN/m? -30.000
P3 kN/m?2 -64.000
Pa kN/m? -64.000
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(12) 1< 2 )
ds = 0.297(m)

Pvi = 0.000 (kN/m2)

PH1 = 0.000 (kN/m?)

PH2 = 0.000 (KN/m2)

Pv2 = 0.000 (kN/m2)

m Wy = 0.000 (kN/m2)

Pg = 0.000 (kN/m2)

g = 0.000 (kN/m2)
P1=-30.000, P2=-30.000, P3=-64.000, P4 =-64.000 (kN/m?2)

Y Y

(kN/m) (kN/m) (kN/m) (kN/m)
1 1 0.389 4.428 19 19 -0.826 -9.446
1 2 0.391 4.428 19 20 -0.825 -9.446
2 2 1.182 4.293 20 20 -2.452 -9.158
2 3 1.197 4.293 20 21 -2.437 -9.158
3 3 2.003 4.029 21 21 -3.965 -8.595
3 4 2.042 4.029 21 22 -3.926 -8.595
4 4 2.850 3.641 22 22 -5.279 -7.766
4 5 2.922 3.641 22 23 -5.207 -7.766
5 5 3.726 3.144 23 23 -6.345 -6.707
5 6 3.835 3.144 23 24 -6.235 -6.707
6 6 4.598 2.549 24 24 -7.103 -5.437
6 7 4.746 2.549 24 25 -6.956 -5.437
7 7 5.441 1.880 25 25 -7.544 -4.010
7 8 5.621 1.880 25 26 -7.363 -4.010
8 8 6.201 1.151 26 26 -7.660 -2.454
8 9 6.406 1.151 26 27 -7.455 -2.454
9 9 6.828 0.387 27 27 -7.482 -0.826
9 10 7.046 0.387 27 28 -7.264 -0.826
10 10 7.264 -0.826 28 28 -7.046 0.387
10 11 7.482 -0.826 28 29 -6.828 0.387
11 11 7.455 -2.454 29 29 -6.406 1.151
11 12 7.660 -2.454 29 30 -6.201 1.151
12 12 7.363 -4.010 30 30 -5.621 1.880
12 13 7.544 -4.010 30 31 -5.441 1.880
13 13 6.956 -5.437 31 31 -4.746 2.549
13 14 7.103 -5.437 31 32 -4.598 2.549
14 14 6.235 -6.707 32 32 -3.835 3.144
14 15 6.345 -6.707 32 33 -3.726 3.144
15 15 5.207 -7.766 33 33 -2.922 3.641
15 16 5.279 -7.766 33 34 -2.850 3.641
16 16 3.926 -8.595 34 34 -2.042 4.029
16 17 3.965 -8.595 34 35 -2.003 4.029
17 17 2.437 -9.158 35 35 -1.197 4.293
17 18 2.452 -9.158 35 36 -1.182 4.293
18 18 0.825 -9.446 36 36 -0.391 4.428
18 19 0.826 -9.446 36 1 -0.389 4.428
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28

(13) [ 1 ( 2
|
Y X
(m) (m) (m) (m) (m) (m)

1 0.000000 -0.002129 0.000000 0
2 0.000006 -0.002107 0.000154 0 36 -0.000006 -0.002107 -0.000154 0
3 0.000026 -0.002043 0.000291 0 35 -0.000026 -0.002043 -0.000291 0
4 0.000073 -0.001952 0.000392 0 34 -0.000073 -0.001952 -0.000392 0
5 0.000148 -0.001852 0.000443 0 33 -0.000148 -0.001852 -0.000443 0
6 0.000243 -0.001761 0.000436 0 32 -0.000243 -0.001761 -0.000436 0
7 0.000344 -0.001695 0.000366 0 31 -0.000344 -0.001695 -0.000366 0
8 0.000428 -0.001659 0.000245 0 30 -0.000428 -0.001659 -0.000245 0
9 0.000478 -0.001649 0.000093 1 29 -0.000478 -0.001649 -0.000093 1
10 0.000482 -0.001651 -0.000060 1 28 -0.000482 -0.001651 0.000060 1
11 0.000444 -0.001652 -0.000191 1 27 -0.000444 -0.001652 0.000191 1
12 0.000374 -0.001636 -0.000289 1 26 -0.000374 -0.001636 0.000289 1
13 0.000286 -0.001600 -0.000348 1 25 -0.000286 -0.001600 0.000348 1
14 0.000196 -0.001541 -0.000367 1 24 -0.000196 -0.001541 0.000367 1
15 0.000118 -0.001469 -0.000349 1 23 -0.000118 -0.001469 0.000349 1
16 0.000059 -0.001392 -0.000297 1 22 -0.000059 -0.001392 0.000297 1
17 0.000023 -0.001324 -0.000216 1 21 -0.000023 -0.001324 0.000216 1
18 0.000006 -0.001278 -0.000113 1 20 -0.000006 -0.001278 0.000113 1
19 0.000000 -0.001261 0.000000 1
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(14) [ 1( 2 )
M(KN m) QkN) N(kN) M(KN m) QkN) N(kN)
1 1 4.974 -0.954 -61.774 | 36 1 4.974 0.954 -61.774
1 2 4.691 -0.954 -61.774 | 36 36 4.691 0.954 -61.774
2 2 4.691 -2.843 -61.406 | 35 36 4.691 2.843 -61.406
2 3 3.849 -2.843 -61.406 | 35 35 3.849 2.843 -61.406
3 3 3.849 -4.575 -60.596 | 34 35 3.849 4.575 -60.596
3 4 2.493 -4.575 -60.596 | 34 34 2.493 4575 -60.596
4 4 2.493 -5.924 -59.276 | 33 34 2.493 5.924 -50.276
4 5 0.737 -5.924 -59.276 | 33 33 0.737 5.924 -59.276
5 5 0.737 -6.636 -57.441 | 32 33 0.737 6.636 -57.441
5 6 -1.229 -6.636 -57.441 | 32 32 -1.229 6.636 -57.441
6 6 ~1.229 -6.342 -55.241 | 31 32 ~1.229 6.342 -55.241
6 7 -3.108 -6.342 -55.241 | 31 31 -3.108 6.342 -55.241
7 7 -3.108 -4.721 -53.011 | 30 31 -3.108 4.721 -53.011
7 8 -4.507 -4.721 -53.011| 30 30 -4.507 4.721 -53.011
8 8 -4.507 -1.656 -51.251 | 29 30 -4.507 1.656 -51.251
8 9 -4.998 -1.656 -51.251 | 29 29 -4.998 1.656 -51.251
9 9 -4.998 1.398 -53.831 | 28 29 -4.998 -1.398 -53.831
9 10 -4.584 1.398 -53.831 | 28 28 -4.584 -1.398 -53.831
10 10 -4.584 3.196 -57.071| 27 28 -4.584 -3.196 -57.071
10 11 -3.637 3.196 -57.071| 27 27 -3.637 -3.196 -57.071
11 11 -3.637 3.958 -60.135 | 26 27 -3.637 -3.958 -60.135
11 12 -2.464 3.958 -60.135 | 26 26 -2.464 -3.958 -60.135
12 12 -2.464 4.168 -62.707 | 25 26 -2.464 -4.168 -62.707
12 13 -1.229 4.168 -62.707 | 25 25 -1.229 -4.168 -62.707
13 13 -1.229 4.122 -64.964 | 24 25 ~1.229 ~4.122 -64.964
13 14 -0.008 4122 -64.964 | 24 24 -0.008 -4.122 -64.964
14 14 -0.008 3.863 -67.025 | 23 24 -0.008 -3.863 -67.025
14 15 1.137 3.863 -67.025 | 23 23 1.137 -3.863 -67.025
15 15 1.137 3.396 -68.901 | 22 23 1.137 -3.396 -68.901
15 16 2.144 3.396 -68.901 | 22 22 2.144 -3.396 -68.901
16 16 2.144 2.706 -70.505 | 21 22 2.144 -2.706 ~70.505
16 17 2.945 2.706 -70.505 | 21 21 2.945 -2.706 ~70.505
17 17 2.945 1.744 -71.694 | 20 21 2.945 -1.744 ~71.694
17 18 3.462 1.744 -71.694 | 20 20 3.462 -1.744 -71.694
18 18 3.462 0.595 -72.325 | 19 20 3.462 -0.595 -72.325
18 19 3.639 0.595 -72.325 | 19 19 3.639 -0.595 -72.325
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(15) ( 2 )
[ + 1
M(KN m) QkN) N(kN) M(KN m) QkN) N(kN)
1 1 16.042 -4.029 6.043| 36 1 16.042 4.029 6.043
1 2 14.848 -4.029 6.043| 36 36 14.848 4.029 6.043
2 2 14.848 -11.433 9.479| 35 36 14.848 11.433 9.479
2 3 11.461 -11.433 9.479| 35 35 11.461 11.433 9.479
3 3 11.461 -16.977 15.880 | 34 35 11.461 16.977 15.880
3 4 6.430 -16.977 15.880 | 34 34 6.430 16.977 15.880
4 4 6.430 -19.721 24.343| 33 34 6.430 19.721 24.343
4 5 0.586 -19.721 24343 33 33 0.586 19.721 24.343
5 5 0.586 -19.109 33.703| 32 33 0.586 19.109 33.703
5 6 -5.077 -19.109 33.703| 32 32 -5.077 19.109 33.703
6 6 -5.077 -15.666 42.161| 31 32 -5.077 15.666 42.161
6 7 -9.718 -15.666 42161 31 31 -9.718 15.666 42.161
7 7 -9.718 -10.207 49.257 | 30 31 -9.718 10.207 49.257
7 8 -12.744 -10.207 49.257 | 30 30 -12.744 10.207 49.257
8 8 ~12.744 -3.115 54.220 | 29 30 ~12.744 3.115 54.220
8 9 -13.666 -3.115 54.220 | 29 29 -13.666 3.115 54.220
9 9 -13.666 3.596 53.264 | 28 29 -13.666 -3.596 53.264
9 10 -12.601 3.596 53.264 | 28 28 -12.601 -3.596 53.264
10 10 -12.601 8.285 50.305 | 27 28 -12.601 -8.285 50.305
10 11 -10.146 8.285 50.305 | 27 27 -10.146 -8.285 50.305
11 11 -10.146 10.995 46.435| 26 27 -10.146 -10.995 46.435
11 12 -6.888 10.995 46.435| 26 26 -6.888 -10.995 46.435
12 12 -6.888 12.079 42.457| 25 26 -6.888 -12.079 42.457
12 13 -3.309 12.079 42.457| 25 25 -3.309 -12.079 42.457
13 13 -3.309 11.966 38.774| 24 25 -3.309 -11.966 38.774
13 14 0.237 11.966 38.774| 24 24 0.237 -11.966 38.774
14 14 0.237 11.088 35.393| 23 24 0.237 -11.088 35.393
14 15 3.522 11.088 35.393| 23 23 3.522 -11.088 35.393
15 15 3.522 9.251 32.699 | 22 23 3.522 -9.251 32.699
15 16 6.264 9.251 32.699 | 22 22 6.264 -9.251 32.699
16 16 6.264 6.835 30.769 | 21 22 6.264 -6.835 30.769
16 17 8.289 6.835 30.769 | 21 21 8.289 -6.835 30.769
17 17 8.289 4.162 29.563 | 20 21 8.289 -4.162 29.563
17 18 9.522 4.162 29.563 | 20 20 9.522 -4.162 29.563
18 18 9.522 1.396 28.995| 19 20 9.522 -1.396 28.995
18 19 9.937 1.396 28.995| 19 19 9.937 -1.396 28.995
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=16.042 (kN m)
= -13.666 (kN m)

= 6.043 (kN)
= 53.264 (kN)

-19.721 (kN)
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N S/ N NS/ NS/ Y/ S/ -

Pvi kN/m2 0.000
PH1 kN/m2 0.000
PH2 kN/m2 0.000
Pv2 kN/m2 0.000
Wy kN/m?2 3.904
Pg kN/m? 12.265
q kN/m2 0.000
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I( 3

ds = 0.297(m)

Pvi = 0.000 (kN/m2)

PH1 = 0.000 (kN/m?)

PH2 = 0.000 (KN/m2)

Pv2 = 0.000 (kN/m2)
m Wy = 3.904 (kN/m?)

Pg = 12.265 (kN/m2)

g = 0.000 (kN/m2)

Y Y

(kN/m) (kN/m) kN/m) (kN/m)
1 1 0.000 -0.579 19 19 0.000 1.231
1 2 0.000 -0.579 19 20 0.000 1.231
2 2 0.000 -0.579 20 20 0.000 1.176
2 3 0.000 -0.579 20 21 0.000 1.176
3 3 0.000 -0.579 21 21 0.000 1.068
3 4 0.000 -0.579 21 22 0.000 1.068
4 4 0.000 -0.579 22 22 0.000 0.909
4 5 0.000 -0.579 22 23 0.000 0.909
5 5 0.000 -0.579 23 23 0.000 0.706
5 6 0.000 -0.579 23 24 0.000 0.706
6 6 0.000 -0.579 24 24 0.000 0.463
6 7 0.000 -0.579 24 25 0.000 0.463
7 7 0.000 -0.579 25 25 0.000 0.189
7 8 0.000 -0.579 25 26 0.000 0.189
8 8 0.000 -0.579 26 26 0.000 -0.109
8 9 0.000 -0.579 26 27 0.000 -0.109
9 9 0.000 -0.579 27 27 0.000 -0.421
9 10 0.000 -0.579 27 28 0.000 -0.421
10 10 0.000 -0.421 28 28 0.000 -0.579
10 11 0.000 -0.421 28 29 0.000 -0.579
11 11 0.000 -0.109 29 29 0.000 -0.579
11 12 0.000 -0.109 29 30 0.000 -0.579
12 12 0.000 0.189 30 30 0.000 -0.579
12 13 0.000 0.189 30 31 0.000 -0.579
13 13 0.000 0.463 31 31 0.000 -0.579
13 14 0.000 0.463 31 32 0.000 -0.579
14 14 0.000 0.706 32 32 0.000 -0.579
14 15 0.000 0.706 32 33 0.000 -0.579
15 15 0.000 0.909 33 33 0.000 -0.579
15 16 0.000 0.909 33 34 0.000 -0.579
16 16 0.000 1.068 34 34 0.000 -0.579
16 17 0.000 1.068 34 35 0.000 -0.579
17 17 0.000 1.176 35 35 0.000 -0.579
17 18 0.000 1.176 35 36 0.000 -0.579
18 18 0.000 1.231 36 36 0.000 -0.579
18 19 0.000 1.231 36 1 0.000 -0.579
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34

®3) [ I (
Y X
(m) (m) (m) (m) (m) (m)

1 0.000000 0.000195 0.000000 1

2 0.000002 0.000213 0.000121 1 36 -0.000002 0.000213 -0.000121 1
3 0.000015 0.000264 0.000229 1 35 -0.000015 0.000264 -0.000229 1
4 0.000050 0.000338 0.000314 1 34 -0.000050 0.000338 -0.000314 1
5 0.000108 0.000421 0.000365 1 33 -0.000108 0.000421 -0.000365 1
6 0.000186 0.000500 0.000377 1 32 -0.000186 0.000500 -0.000377 1
7 0.000275 0.000562 0.000346 1 31 -0.000275 0.000562 -0.000346 1
8 0.000359 0.000601 0.000274 1 30 -0.000359 0.000601 -0.000274 1
9 0.000422 0.000619 0.000166 1 29 -0.000422 0.000619 -0.000166 1
10 0.000452 0.000622 0.000034 1 28 -0.000452 0.000622 -0.000034 1
11 0.000442 0.000624 -0.000108 1 27 -0.000442 0.000624 0.000108 1
12 0.000391 0.000638 -0.000242 1 26 -0.000391 0.000638 0.000242 1
13 0.000311 0.000676 -0.000349 0 25 -0.000311 0.000676 0.000349 0
14 0.000218 0.000742 -0.000413 0 24 -0.000218 0.000742 0.000413 0
15 0.000130 0.000831 -0.000425 0 23 -0.000130 0.000831 0.000425 0
16 0.000061 0.000930 -0.000381 0 22 -0.000061 0.000930 0.000381 0
17 0.000019 0.001021 -0.000286 0 21 -0.000019 0.001021 0.000286 0
18 0.000002 0.001084 -0.000153 0 20 -0.000002 0.001084 0.000153 0
19 0.000000 0.001107 0.000000 0
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4) [ 1( )
M(KN m) QkN) N(kN) M(KN m) QkN) N(kN)
1 1 3.887 -0.672 -1.033 | 36 1 3.887 0.672 -1.033
1 2 3.688 -0.672 -1.033 | 36 36 3.688 0.672 -1.033
2 2 3.688 ~1.960 -0.601| 35 36 3.688 1.960 -0.601
2 3 3.108 -1.960 -0.601| 35 35 3.108 1.960 -0.601
3 3 3.108 -3.084 0.238] 34 35 3.108 3.084 0.238
3 4 2.194 -3.084 0.238] 34 34 2.194 3.084 0.238
4 4 2.194 -3.945 1.434| 33 34 2.194 3.945 1.434
4 5 1.025 -3.945 1.434| 33 33 1.025 3.945 1.434
5 5 1.025 ~4.455 2917 32 33 1.025 4.455 2.917
5 6 -0.296 -4.455 2917 32 32 -0.296 4.455 2.917
6 6 -0.296 -4.545 4595 | 31 32 -0.296 4.545 4.595
6 7 -1.642 -4.545 4595 | 31 31 -1.642 4.545 4.595
7 7 -1.642 -4.169 6.363| 30 31 -1.642 4.169 6.363
7 8 -2.878 -4.169 6.363| 30 30 -2.878 4.169 6.363
8 8 -2.878 -3.300 8.110 | 29 30 -2.878 3.300 8.110
8 9 -3.855 -3.300 8.110 | 29 29 -3.855 3.300 8.110
9 9 -3.855 -1.941 9.714| 28 29 -3.855 1.941 9.714
9 10 -4.431 -1.941 9.714| 28 28 -4.431 1.941 9.714
10 10 -4.431 -0.139 10.900 | 27 28 -4.431 0.139 10.900
10 11 “4.472 -0.139 10.900 | 27 27 ~4.472 0.139 10.900
11 11 ~4.472 1.894 11.270 | 26 27 ~4.472 -1.894 11.270
11 12 -3.911 1.894 11.270 | 26 26 -3.911 -1.894 11.270
12 12 -3.911 3.789 10.696 | 25 26 -3.911 -3.789 10.696
12 13 -2.788 3.789 10.696 | 25 25 -2.788 -3.789 10.696
13 13 -2.788 5.213 9343 24 25 -2.788 -5.213 9.343
13 14 -1.243 5.213 9343 24 24 -1.243 -5.213 9.343
14 14 -1.243 5.930 7469 23 24 -1.243 -5.930 7.469
14 15 0.514 5.930 7.469| 23 23 0.514 -5.930 7.469
15 15 0.514 5.815 5398 | 22 23 0.514 -5.815 5.398
15 16 2.237 5.815 5398 | 22 22 2.237 -5.815 5.398
16 16 2.237 4.871 3473 21 22 2.237 -4.871 3.473
16 17 3.681 4.871 3473 21 21 3.681 -4.871 3.473
17 17 3.681 3.232 1.993| 20 21 3.681 -3.232 1.993
17 18 4.638 3.232 1.993] 20 20 4.638 -3.232 1.993
18 18 4.638 1.132 1.191] 19 20 4.638 -1.132 1.191
18 19 4.974 1.132 1.191] 19 19 4.974 -1.132 1.191
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1

1

Kh(kN/m?) ks(kn/m?) ds(m) ds kh(kN/m?) | ds ks(kN/m?)
1 0.000 0.000 0.297 0.000 0.000
2 0.000 0.000 0.297 0.000 0.000
3 0.000 0.000 0.297 0.000 0.000
4 0.000 0.000 0.297 0.000 0.000
5 0.000 0.000 0.297 0.000 0.000
6 20000.000 6667.000 0.297 5934.119 1978.139
7 20000.000 6667.000 0.297 5934.119 1978.139
8 20000.000 6667.000 0.297 5934.119 1978.139
9 20000.000 6667.000 0.297 5934.119 1978.139
10 20000.000 6667.000 0.297 5934.119 1978.139
11 20000.000 6667.000 0.297 5934.119 1978.139
12 20000.000 6667.000 0.297 5934.119 1978.139
13 20000.000 6667.000 0.297 5934.119 1978.139
14 20000.000 6667.000 0.297 5934.119 1978.139
15 0.000 0.000 0.297 0.000 0.000
16 0.000 0.000 0.297 0.000 0.000
17 0.000 0.000 0.297 0.000 0.000
18 0.000 0.000 0.297 0.000 0.000
19 0.000 0.000 0.297 0.000 0.000
20 0.000 0.000 0.297 0.000 0.000
21 0.000 0.000 0.297 0.000 0.000
22 0.000 0.000 0.297 0.000 0.000
23 0.000 0.000 0.297 0.000 0.000
24 20000.000 6667.000 0.297 5934.119 1978.139
25 20000.000 6667.000 0.297 5934.119 1978.139
26 20000.000 6667.000 0.297 5934.119 1978.139
27 20000.000 6667.000 0.297 5934.119 1978.139
28 20000.000 6667.000 0.297 5934.119 1978.139
29 20000.000 6667.000 0.297 5934.119 1978.139
30 20000.000 6667.000 0.297 5934.119 1978.139
31 20000.000 6667.000 0.297 5934.119 1978.139
32 20000.000 6667.000 0.297 5934.119 1978.139
33 0.000 0.000 0.297 0.000 0.000
34 0.000 0.000 0.297 0.000 0.000
35 0.000 0.000 0.297 0.000 0.000
36 0.000 0.000 0.297 0.000 0.000
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Pvi kN/m2 128.100
PH1 kN/m2 55.462
PH2 kN/m2 108.162
Pv2 kN/m2 128.100
Wy kN/m?2 0.000
Pg kN/m? 0.000
q kN/m2 0.000

RC




1< 3
ds = 0.297(m)
Pvi = 128.100 (kN/m2)
PH1 = 55.462 (KN/m?)
PH2 = 108.162 (kN/m?)
Pva = 128.100 (kN/m?)
m Wy = 0.000 (kN/m2)
Pg = 0.000 (kN/m2)
g = 0.000 (kN/m2)
X
Y Y
(kN/m) (kN/m) (kN/m) (kN/m)
1 1 -0.717 -18.908 19 19 1.394 18.908
1 2 -0.719 -18.908 19 20 1.391 18.908
2 2 -2.154 -18.331 20 20 4.121 18.331
2 3 -2.176 -18.331 20 21 4.098 18.331
3 3 -3.605 -17.204 21 21 6.646 17.204
3 4 -3.665 -17.204 21 22 6.586 17.204
4 4 -5.067 -15.545 22 22 8.832 15.545
4 5 -5.179 -15.545 22 23 8.721 15.545
5 5 -6.544 -13.425 23 23 10.604 13.425
5 6 -6.714 -13.425 23 24 10.434 13.425
6 6 -7.987 -10.882 24 24 11.869 10.882
6 7 -8.215 -10.882 24 25 11.641 10.882
7 7 -9.358 -8.025 25 25 12.617 8.025
7 8 -9.637 -8.025 25 26 12.337 8.025
8 8 -10.576 -4.913 26 26 12.838 4.913
8 9 -10.894 -4.913 26 27 12.521 4.913
9 9 -11.569 -1.652 27 27 12.582 1.652
9 10 -11.907 -1.652 27 28 12.244 1.652
10 10 -12.244 1.652 28 28 11.907 -1.652
10 11 -12.582 1.652 28 29 11.569 -1.652
11 11 -12.521 4.913 29 29 10.894 -4.913
11 12 -12.838 4.913 29 30 10.576 -4.913
12 12 -12.337 8.025 30 30 9.637 -8.025
12 13 -12.617 8.025 30 31 9.358 -8.025
13 13 -11.641 10.882 31 31 8.215 -10.882
13 14 -11.869 10.882 31 32 7.987 -10.882
14 14 -10.434 13.425 32 32 6.714 -13.425
14 15 -10.604 13.425 32 33 6.544 -13.425
15 15 -8.721 15.545 33 33 5.179 -15.545
15 16 -8.832 15.545 33 34 5.067 -15.545
16 16 -6.586 17.204 34 34 3.665 -17.204
16 17 -6.646 17.204 34 35 3.605 -17.204
17 17 -4.098 18.331 35 35 2.176 -18.331
17 18 -4.121 18.331 35 36 2.154 -18.331
18 18 -1.391 18.908 36 36 0.719 -18.908
18 19 -1.394 18.908 36 1 0.717 -18.908
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39

®) [ 1 ( 3 )
|
X Y X
(m) (m) (m) (m) (m) (m)

1 0.000000 -0.001989 0.000000 0
2 -0.000001 -0.001892 0.000640 0 36 0.000001 -0.001892 -0.000640 0
3 0.000061 -0.001626 0.001178 0 35 -0.000061 -0.001626 -0.001178 0
4 0.000224 -0.001253 0.001528 0 34 -0.000224 -0.001253 -0.001528 0
5 0.000488 -0.000857 0.001647 0 33 -0.000488 -0.000857 -0.001647 0
6 0.000817 -0.000511 0.001536 1 32 -0.000817 -0.000511 -0.001536 1
7 0.001150 -0.000263 0.001237 1 31 -0.001150 -0.000263 -0.001237 1
8 0.001422 -0.000122 0.000812 1 30 -0.001422 -0.000122 -0.000812 1
9 0.001582 -0.000066 0.000322 1 29 -0.001582 -0.000066 -0.000322 1
10 0.001602 -0.000051 -0.000172 1 28 -0.001602 -0.000051 0.000172 1
11 0.001484 -0.000028 -0.000622 1 27 -0.001484 -0.000028 0.000622 1
12 0.001255 0.000047 -0.000989 1 26 -0.001255 0.000047 0.000989 1
13 0.000957 0.000200 -0.001245 1 25 -0.000957 0.000200 0.001245 1
14 0.000644 0.000434 -0.001371 1 24 -0.000644 0.000434 0.001371 1
15 0.000364 0.000731 -0.001353 0 23 -0.000364 0.000731 0.001353 0
16 0.000156 0.001048 -0.001183 0 22 -0.000156 0.001048 0.001183 0
17 0.000036 0.001332 -0.000876 0 21 -0.000036 0.001332 0.000876 0
18 -0.000005 0.001529 -0.000465 0 20 0.000005 0.001529 0.000465 0

19 0.000000 0.001599 0.000000 0
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©) [ 1( 3 )
M(KN m) QkN) N(kN) M(KN m) QkN) N(kN)
1 1 20.915 -5.761 151.241 | 36 1 20.915 5.761 151.241
1 2 19.207 -5.761 151.241 | 36 36 19.207 5.761 151.241
2 2 19.207 -16.104 156.806 | 35 36 19.207 16.104 156.806
2 3 14.435 -16.104 156.806 | 35 35 14.435 16.104 156.806
3 3 14.435 -23.261 167.002 | 34 35 14.435 23.261 167.002
3 4 7.542 -23.261 167.002 | 34 34 7.542 23.261 167.002
4 4 7.542 -25.789 180.133 | 33 34 7.542 25.789 180.133
4 5 -0.100 -25.789 180.133 | 33 33 -0.100 25.789 180.133
5 5 -0.100 -22.871 194.069 | 32 33 -0.100 22.871 194.069
5 6 -6.877 -22.871 194.069 | 32 32 -6.877 22.871 194.069
6 6 -6.877 ~16.701 204.920 | 31 32 -6.877 16.701 204.920
6 7 -11.826 -16.701 204.920 | 31 31 -11.826 16.701 204.920
7 7 -11.826 -10.083 213.281| 30 31 -11.826 10.083 213.281
7 8 -14.814 -10.083 213.281| 30 30 -14.814 10.083 213.281
8 8 -14.814 -3.499 218.538 | 29 30 -14.814 3.499 218.538
8 9 -15.851 -3.499 218.538 | 29 29 -15.851 3.499 218.538
9 9 -15.851 2.384 220.536 | 28 29 -15.851 -2.384 220.536
9 10 -15.144 2.384 220.536 | 28 28 -15.144 -2.384 220.536
10 10 -15.144 7.066 219.609 | 27 28 -15.144 ~7.066 219.609
10 11 -13.050 7.066 219.609 | 27 27 -13.050 ~7.066 219.609
11 11 -13.050 10.545 216.409 | 26 27 -13.050 -10.545 216.409
11 12 -9.925 10.545 216.409 | 26 26 -9.925 -10.545 216.409
12 12 -9.925 12.911 211.739 | 25 26 -9.925 12,911 211.739
12 13 -6.100 12.911 211.739 | 25 25 -6.100 12,911 211.739
13 13 ~6.100 14.516 206.376 | 24 25 ~6.100 -14.516 206.376
13 14 -1.798 14.516 206.376 | 24 24 -1.798 -14.516 206.376
14 14 -1.798 16.060 200.880 | 23 24 -1.798 -16.060 200.880
14 15 2.961 16.060 200.880 | 23 23 2.961 -16.060 200.880
15 15 2.961 15.905 194.251 | 22 23 2.961 -15.905 194.251
15 16 7.674 15.905 194.251 | 22 22 7.674 -15.905 194.251
16 16 7.674 13.149 188.679 | 21 22 7.674 -13.149 188.679
16 17 11571 13.149 188.679 | 21 21 11571 -13.149 188.679
17 17 11.571 8.628 184.704 | 20 21 11571 -8.628 184.704
17 18 14.127 8.628 184.704 | 20 20 14.127 -8.628 184.704
18 18 14.127 3.017 182.644 | 19 20 14.127 -3.017 182.644
18 19 15.021 3.017 182.644 | 19 19 15.021 -3.017 182.644
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1 1
Kh(kN/m?) ks(kn/m?) ds(m) ds kh(kN/m?) | ds ks(kN/m?)

1 0.000 0.000 0.297 0.000 0.000
2 0.000 0.000 0.297 0.000 0.000
3 0.000 0.000 0.297 0.000 0.000
4 0.000 0.000 0.297 0.000 0.000
5 0.000 0.000 0.297 0.000 0.000
6 0.000 0.000 0.297 0.000 0.000
7 0.000 0.000 0.297 0.000 0.000
8 0.000 0.000 0.297 0.000 0.000
9 20000.000 6667.000 0.297 5934.119 1978.139
10 20000.000 6667.000 0.297 5934.119 1978.139
11 20000.000 6667.000 0.297 5934.119 1978.139
12 20000.000 6667.000 0.297 5934.119 1978.139
13 20000.000 6667.000 0.297 5934.119 1978.139
14 20000.000 6667.000 0.297 5934.119 1978.139
15 20000.000 6667.000 0.297 5934.119 1978.139
16 20000.000 6667.000 0.297 5934.119 1978.139
17 20000.000 6667.000 0.297 5934.119 1978.139
18 20000.000 6667.000 0.297 5934.119 1978.139
19 20000.000 6667.000 0.297 5934.119 1978.139
20 20000.000 6667.000 0.297 5934.119 1978.139
21 20000.000 6667.000 0.297 5934.119 1978.139
22 20000.000 6667.000 0.297 5934.119 1978.139
23 20000.000 6667.000 0.297 5934.119 1978.139
24 20000.000 6667.000 0.297 5934.119 1978.139
25 20000.000 6667.000 0.297 5934.119 1978.139
26 20000.000 6667.000 0.297 5934.119 1978.139
27 20000.000 6667.000 0.297 5934.119 1978.139
28 20000.000 6667.000 0.297 5934.119 1978.139
29 20000.000 6667.000 0.297 5934.119 1978.139
30 0.000 0.000 0.297 0.000 0.000
31 0.000 0.000 0.297 0.000 0.000
32 0.000 0.000 0.297 0.000 0.000
33 0.000 0.000 0.297 0.000 0.000
34 0.000 0.000 0.297 0.000 0.000
35 0.000 0.000 0.297 0.000 0.000
36 0.000 0.000 0.297 0.000 0.000
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(11)

P1
L N
P3
R
P1 kN/m?2 -80.000
P2 kN/m? -80.000
Ps3 kN/m? -114.000
Pa kN/m? -114.000
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(12) 1< 3 )
ds = 0.297(m)
Pvi = 0.000 (kN/m2)
PH1 = 0.000 (kN/m?)
PH2 = 0.000 (KN/m2)
Pv2 = 0.000 (kN/m2)
m Wy = 0.000 (kN/m2)
Pg = 0.000 (kN/m2)
g = 0.000 (kN/m2)
P1=-80.000, P2=-80.000, P3=-114.000, P4 =-114.000 (kN/m?2)
Y Y
(kN/m) (kN/m) (kN/m) (kN/m)
1 1 1.034 11.808 19 19 -1.471 -16.826
1 2 1.036 11.808 19 20 -1.470 -16.826
2 2 3.100 11.448 20 20 -4.369 -16.313
2 3 3.115 11.448 20 21 -4.355 -16.313
3 3 5.135 10.744 21 21 -7.098 -15.310
3 4 5.174 10.744 21 22 -7.058 -15.310
4 4 7.098 9.708 22 22 -9.527 -13.834
4 5 7.170 9.708 22 23 -9.455 -13.834
5 5 8.966 8.384 23 23 -11.585 -11.947
5 6 9.075 8.384 23 24 -11.475 -11.947
6 6 10.666 6.796 24 24 -13.171 -9.684
6 7 10.813 6.796 24 25 -13.023 -9.684
7 7 12.156 5.012 25 25 -14.259 -7.142
7 8 12.336 5.012 25 26 -14.078 -7.142
8 8 13.356 3.068 26 26 -14.815 -4.372
8 9 13.561 3.068 26 27 -14.610 -4.372
9 9 14.208 1.032 27 27 -14.862 -1.471
9 10 14.426 1.032 27 28 -14.644 -1.471
10 10 14.644 -1.471 28 28 -14.426 1.032
10 11 14.862 -1.471 28 29 -14.208 1.032
11 11 14.610 -4.372 29 29 -13.561 3.068
11 12 14.815 -4.372 29 30 -13.356 3.068
12 12 14.078 -7.142 30 30 -12.336 5.012
12 13 14.259 -7.142 30 31 -12.156 5.012
13 13 13.023 -9.684 31 31 -10.813 6.796
13 14 13.171 -9.684 31 32 -10.666 6.796
14 14 11.475 -11.947 32 32 -9.075 8.384
14 15 11.585 -11.947 32 33 -8.966 8.384
15 15 9.455 -13.834 33 33 -7.170 9.708
15 16 9.527 -13.834 33 34 -7.098 9.708
16 16 7.058 -15.310 34 34 -5.174 10.744
16 17 7.098 -15.310 34 35 -5.135 10.744
17 17 4.355 -16.313 35 35 -3.115 11.448
17 18 4.369 -16.313 35 36 -3.100 11.448
18 18 1.470 -16.826 36 36 -1.036 11.808
18 19 1.471 -16.826 36 1 -1.034 11.808
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44

(13) [ 1 ( 3
|
Y X
(m) (m) (m) (m) (m) (m)

1 0.000000 -0.002060 0.000000 0
2 0.000011 -0.002039 0.000151 0 36 -0.000011 -0.002039 -0.000151 0
3 0.000036 -0.001978 0.000285 0 35 -0.000036 -0.001978 -0.000285 0
4 0.000086 -0.001891 0.000384 0 34 -0.000086 -0.001891 -0.000384 0
5 0.000164 -0.001795 0.000434 0 33 -0.000164 -0.001795 -0.000434 0
6 0.000261 -0.001710 0.000426 0 32 -0.000261 -0.001710 -0.000426 0
7 0.000362 -0.001649 0.000357 0 31 -0.000362 -0.001649 -0.000357 0
8 0.000446 -0.001619 0.000237 0 30 -0.000446 -0.001619 -0.000237 0
9 0.000495 -0.001614 0.000089 1 29 -0.000495 -0.001614 -0.000089 1
10 0.000500 -0.001622 -0.000060 1 28 -0.000500 -0.001622 0.000060 1
11 0.000462 -0.001628 -0.000187 1 27 -0.000462 -0.001628 0.000187 1
12 0.000392 -0.001618 -0.000281 1 26 -0.000392 -0.001618 0.000281 1
13 0.000304 -0.001586 -0.000339 1 25 -0.000304 -0.001586 0.000339 1
14 0.000214 -0.001534 -0.000358 1 24 -0.000214 -0.001534 0.000358 1
15 0.000134 -0.001467 -0.000340 1 23 -0.000134 -0.001467 0.000340 1
16 0.000072 -0.001395 -0.000289 1 22 -0.000072 -0.001395 0.000289 1
17 0.000032 -0.001331 -0.000210 1 21 -0.000032 -0.001331 0.000210 1
18 0.000011 -0.001287 -0.000110 1 20 -0.000011 -0.001287 0.000110 1
19 0.000000 -0.001272 0.000000 1
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(14) [ 1( 3 )
M(KN m) QkN) N(kN) M(KN m) QkN) N(kN)
1 1 4.880 -0.933 -146.297 | 36 1 4.880 0.933 -146.297
1 2 4.604 -0.933 -146.297 | 36 36 4.604 0.933 -146.297
2 2 4.604 -2.808 -145.934 | 35 36 4.604 2.808 -145.934
2 3 3.772 -2.808 -145.934 | 35 35 3.772 2.808 -145.934
3 3 3.772 -4.523 -145.131 | 34 35 3.772 4.523 -145.131
3 4 2.431 -4.523 -145.131| 34 34 2.431 4523 -145.131
4 4 2.431 -5.826 -143.824 | 33 34 2.431 5.826 -143.824
4 5 0.705 -5.826 -143.824 | 33 33 0.705 5.826 -143.824
5 5 0.705 -6.526 -142.008 | 32 33 0.705 6.526 -142.008
5 6 -1.229 -6.526 -142.008 | 32 32 -1.229 6.526 -142.008
6 6 ~1.229 -6.224 -139.828 | 31 32 ~1.229 6.224 -139.828
6 7 -3.073 -6.224 -139.828 | 31 31 -3.073 6.224 -139.828
7 7 -3.073 -4.566 -137.621 | 30 31 -3.073 4.566 -137.621
7 8 -4.427 -4.566 -137.621 | 30 30 -4.427 4.566 -137.621
8 8 -4.427 -1.501 -135.888 | 29 30 -4.427 1.501 -135.888
8 9 -4.872 -1.501 -135.888 | 29 29 -4.872 1.501 -135.888
9 9 ~4.872 1.412 -138.422 | 28 29 ~4.872 “1.412 -138.422
9 10 -4.453 1.412 -138.422 | 28 28 -4.453 -1.412 -138.422
10 10 -4.453 3.141 -141.601 | 27 28 -4.453 -3.141 -141.601
10 11 -3.522 3.141 -141.601 | 27 27 -3.522 -3.141 -141.601
11 11 -3.522 3.843 -144.597 | 26 27 -3.522 -3.843 -144.597
11 12 -2.383 3.843 -144597 | 26 26 -2.383 -3.843 -144.597
12 12 -2.383 4.025 -147.099 | 25 26 -2.383 -4.025 -147.099
12 13 -1.191 4.025 -147.099 | 25 25 -1.191 -4.025 -147.099
13 13 1191 4.003 -149.293 | 24 25 1191 -4.003 -149.293
13 14 -0.005 4.003 -149.293 | 24 24 -0.005 -4.003 -149.293
14 14 -0.005 3.749 -151.299 | 23 24 -0.005 -3.749 -151.299
14 15 1.106 3.749 -151.299 | 23 23 1.106 -3.749 -151.299
15 15 1.106 3.294 -153.131 | 22 23 1.106 -3.294 -153.131
15 16 2.082 3.294 -153.131 | 22 22 2.082 -3.294 -153.131
16 16 2.082 2.652 -154.701 | 21 22 2.082 -2.652 -154.701
16 17 2.868 2.652 -154.701 | 21 21 2.868 -2.652 -154.701
17 17 2.868 1.708 -155.869 | 20 21 2.868 -1.708 -155.869
17 18 3.374 1.708 -155.869 | 20 20 3.374 -1.708 -155.869
18 18 3.374 0.574 -156.488 | 19 20 3.374 -0.574 -156.488
18 19 3.544 0.574 -156.488 | 19 19 3.544 0574 -156.488
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(15) ( 3 )
[ + 1
M(KN m) QkN) N(kN) M(KN m) QkN) N(kN)
1 1 29.682 ~7.366 3.911| 36 1 29.682 7.366 3.911
1 2 27.499 ~7.366 3.911| 36 36 27.499 7.366 3.911
2 2 27.499 -20.872 10.271| 35 36 27.499 20.872 10.271
2 3 21.315 -20.872 10.271| 35 35 21.315 20.872 10.271
3 3 21.315 -30.868 22109 | 34 35 21.315 30.868 22.109
3 4 12.167 -30.868 22109 | 34 34 12.167 30.868 22.109
4 4 12.167 -35.560 37.743| 33 34 12.167 35.560 37.743
4 5 1.630 -35.560 37.743| 33 33 1.630 35.560 37.743
5 5 1.630 -33.852 54.978 | 32 33 1.630 33.852 54.978
5 6 -8.402 -33.852 54.978 | 32 32 -8.402 33.852 54.978
6 6 -8.402 -27.470 69.687 | 31 32 -8.402 27.470 69.687
6 7 -16.541 -27.470 69.687 | 31 31 -16.541 27.470 69.687
7 7 -16.541 -18.818 82.023| 30 31 -16.541 18.818 82.023
7 8 -22.119 -18.818 82.023| 30 30 -22.119 18.818 82.023
8 8 -22.119 ~8.300 90.760 | 29 30 -22.119 8.300 90.760
8 9 -24.578 -8.300 90.760 | 29 29 -24.578 8.300 90.760
9 9 -24.578 1.855 91.828 | 28 29 -24.578 -1.855 91.828
9 10 -24.028 1.855 91.828 | 28 28 -24.028 -1.855 91.828
10 10 -24.028 10.068 88.908 | 27 28 -24.028 -10.068 88.908
10 11 -21.044 10.068 88.908 | 27 27 -21.044 -10.068 88.908
11 11 -21.044 16.282 83.082| 26 27 -21.044 -16.282 83.082
11 12 -16.219 16.282 83.082| 26 26 -16.219 -16.282 83.082
12 12 -16.219 20.725 75.336 | 25 26 -16.219 -20.725 75.336
12 13 -10.079 20.725 75.336 | 25 25 -10.079 -20.725 75.336
13 13 -10.079 23.732 66.426 | 24 25 -10.079 -23.732 66.426
13 14 -3.046 23.732 66.426 | 24 24 -3.046 -23.732 66.426
14 14 -3.046 25.739 57.050 | 23 24 -3.046 -25.739 57.050
14 15 4.581 25.739 57.050 | 23 23 4.581 -25.739 57.050
15 15 4.581 25.014 46518 | 22 23 4.581 -25.014 46.518
15 16 11.993 25.014 46518 | 22 22 11.993 -25.014 46.518
16 16 11.993 20.672 37451 21 22 11.993 -20.672 37.451
16 17 18.120 20.672 37451 21 21 18.120 -20.672 37.451
17 17 18.120 13.568 30.828 | 20 21 18.120 -13.568 30.828
17 18 22.139 13.568 30.828 | 20 20 22.139 -13.568 30.828
18 18 22.139 4.723 27.347| 19 20 22.139 -4.723 27.347
18 19 23.539 4.723 27.347| 19 19 23.539 -4.723 27.347
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=29.682 (kN m)
= -24.578 (kN m)

=3.911 (kN)
= 90.760 (kN)

-35.560 (kN)
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a7

M 24.802 -19.706 9.736

N 150.208 226.648 181.567
Q -6.433 -6.799 -29.734
M 16.042 -13.666 6.430

N 6.043 53.264 24.343
Q -4.029 3.596 -19.721
M 29.682 -24.578 12.167
N 3.911 90.760 37.743
Q -7.366 -8.300 -35.560
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M (kN m)
N (kN)
Q (kN)



M B (1+ ) 24.802 -19.706 9.736
. M B (1-7 ) 24.802 -19.706 9.736
N 150.208 226.648 181.567
Q -6.433 -6.799 -29.734
M B (1+ ) 16.042 -13.666 6.430
) M B (1-7 ) 16.042 -13.666 6.430
N 6.043 53.264 24.343
Q ~4.029 3.596 -19.721
M B (1+7 ) 29.682 ~24.578 12.167
5 M B (1-7 ) 29.682 ~24.578 12.167
N 3.911 90.760 37.743
Q ~7.366 -8.300 -35.560

B =1.000 m

7 =0
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N (kN)
Q (kN)



Ki f

Ki<f

li
Ai (h-u)

Ki =

Ai= B h+n (As+As")
(05 B h2+n (As d+As" d"))/A

<
1

li= B (uwW+(h-u)¥)/3+n (As (d-u)?+As

M/N

(9]
11

z = 2 2

(u-d))
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@
1) ( Ki )
Oc
oo /n
| N
o~ ﬁ 5 \{ N
. T
~ O
=
-5.1.1
N M Oca: (N/mm?)
Oc= - + u O ca
Al l oc: (N/mm?2)
2) (Ki< )
(@)
P N
ei/m
= L As h @
N T 1 c
7 X c
<|© Lq:mm P
[
o~ - n n
~| < As Eehva 2] n_x
< [ s % > 1 \2 3)
Re)
B Os/ﬂ
-5.1.2
x3-3 (h/2-e) x2+(6 n/B) (As (e+C)+As" (e-C')) X -(6 n/B)
(As (e+C) (C+h/2)+As" (e-C') (h/2-C"))=0
M
Oc= O ca
Bx /72 (h/2-x /3)+(nAs'/x )C (C'-h/2+x )+(nAs/x )C(C+h/2-X%)
naoc h
Os= (C+ -X ) O sa
X 2
naoc h
os'= (Cc' - +X ) O sa
X 2
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h/2
C
X
e
A
>
' >

RC

gu M iy %7%>
U‘ B oS
-5.1.3
(As+As") n (As+As")
-n + ( )2+ (d As+d As")
B B
M
O ca
Bx 72 (d-x /73)+nAs" (x -d'/x ) (d-d")
d-X
n g¢ ——————— O sa
X
X -d
n Oc O sa
X
X (mm)
C (mm)
c (mm)
O sa (N/mmz)
Os (N/mm?2)
os (N/mm?)
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1.15 Qmax

B d

Qmax
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B (mm) 1000 1000 1000
h (mm) 150 150 150
M (kN m) 24.802 -19.706 9.736
N (kN) 150.208 226.648 181.567
Q (kN) -6.433 -6.799 -29.734
d (mm) 115 115 115
As (cm?) 10.7710 10.7710 10.7710
d* (mm) 35 35 35
As' (cm?) 10.7710 10.7710 10.7710
n 15 15 15
Aw (cm?)
aw(®)
Ss (mm)
e (mm) 165 87 54
Ai (mm?2) 182313 182313 182313
u (mm) 75 75 75
li (mm4/Ring) 332950800 332950800 332950800
Ki (mm) 24 24 24
f (mm) 165 87 54
X (mm) 55.0 67.0 87.0
o ¢ (N/mm2) 9.900 OK 7.800 OK 3.800 OK
o s (N/mm?) 162.000 OK 83.800 OK 18.300 OK
o s" (N/mm2) 54.000 OK 55.900 OK 34.100 OK
T ¢ (N/mm2) 0.064 OK 0.068 OK 0.297 OK
Qc (kN)
Qs (kN)
o w (N/mm2)
O ca (N/mm?) 16.0 16.0 16.0
0 sa (N/mm2) 200.0 200.0 200.0
T a (N/mm2) 0.71 0.71 0.71
1.00

RC




2 )
B (mm) 1000 1000 1000
h (mm) 150 150 150
M (kN m) 16.042 -13.666 6.430
N (kN) 6.043 53.264 24.343
Q (kN) -4.029 3.596 -19.721
d (mm) 115 115 115
As (cm?) 10.7710 10.7710 10.7710
d* (mm) 35 35 35
As' (cm?) 10.7710 10.7710 10.7710
n 15 15 15
Aw (cm?)
aw(®)
Ss (mm)
e (mm) 2655 257 264
Ai (mm2) 182313 182313 182313
u (mm) 75 75 75
li (mm4/Ring) 332950800 332950800 332950800
Ki (mm) 24 24 24
f (mm) 2655 257 264
X (mm) 45.0 51.0 50.0
o ¢ (N/mm2) 6.400 OK 5.500 OK 2.600 OK
o s (N/mm?) 149.300 OK 103.500 OK 50.700 OK
o s" (N/mm2) 21.300 OK 25.900 OK 11.700 OK
T ¢ (N/mm2) 0.040 OK 0.036 OK 0.197 OK
Qc (kN)
Qs (kN)
o w (N/mm2)
O ca (N/mm?) 16.0 16.0 16.0
0 sa (N/mm2) 200.0 200.0 200.0
T a (N/mm2) 0.71 0.71 0.71
1.00
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3 )
B (mm) 1000 1000 1000
h (mm) 150 150 150
M (kN m) 29.682 -24.578 12.167
N (kN) 3.911 90.760 37.743
Q (kN) -7.366 -8.300 -35.560
d (mm) 115 115 115
As (cm?) 10.7710 10.7710 10.7710
d* (mm) 35 35 35
As' (cm?) 10.7710 10.7710 10.7710
n 15 15 15
Aw (cm?)
aw(®)
Ss (mm)
e (mm) 7589 271 322
Ai (mm2) 182313 182313 182313
u (mm) 75 75 75
li (mm4/Ring) 332950800 332950800 332950800
Ki (mm) 24 24 24
f (mm) 7589 271 322
X (mm) 45.0 50.0 49.0
o ¢ (N/mm2) 11.900 OK 9.900 OK 4.900 OK
o s (N/mm?) 277.700 ouT 193.000 OK 99.000 OK
o s" (N/mm2) 39.700 OK 44.600 OK 21.000 OK
T ¢ (N/mm2) 0.074 OK 0.083 OK 0.356 OK
Qc (kN)
Qs (kN)
o w (N/mm2)
O ca (N/mm?) 16.0 16.0 16.0
0 sa (N/mm2) 200.0 200.0 200.0
T a (N/mm2) 0.71 0.71 0.71
1.00
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(DK
Qcosa ,\7\ Q
\ /Ncosa
{ ] &« Nsin a
| <—
N
-6.1.1 K
a =145°
Qk =N (sina -f" cosa )-Q (cosa +f' sina)
f'=0.5( )
0° 50° Qk
N (sina - Q (cosa +
N(kN/m) Q(KN/m) f* cosa ) f* sina ) Qk(KN/m)
32 32 196.986 27.326 -46.034 29.877 -75.911
32 33 196.986 27.326 -46.034 29.877 -75.911
33 33 181.567 29.734 -42.431 32.509 -74.940
33 34 181.567 29.734 -42.431 32.509 -74.940
34 34 167.240 26.345 -39.083 28.804 -67.887
34 35 167.240 26.345 -39.083 28.804 -67.887
35 35 156.205 18.064 -36.504 19.750 -56.254
35 36 156.205 18.064 -36.504 19.750 -56.254
36 36 150.208 6.433 -35.103 7.033 -42.136
36 37 150.208 6.433 -35.103 7.033 -42.136
1 1 150.208 -6.433 -35.103 -7.033 -28.070
1 2 150.208 -6.433 -35.103 -7.033 -28.070
2 2 156.205 -18.064 -36.504 -19.750 -16.754
2 3 156.205 -18.064 -36.504 -19.750 -16.754
3 3 167.240 -26.345 -39.083 -28.804 -10.279
3 4 167.240 -26.345 -39.083 -28.804 -10.279
4 4 181.567 -29.734 -42.431 -32.509 -9.922
4 5 181.567 -29.734 -42.431 -32.509 -9.922
5 5 196.986 -27.326 -46.034 -29.877 -16.157
5 6 196.986 -27.326 -46.034 -29.877 -16.157
K Qkmax = -9.922 (kN/m)
Qkmax < 0

RC



Qmax = -29.734 (kN)

Qmax = -29.734 x 1000 = -29734 (N/Ring)

T8
Qmax 29734
TB= =
nsb  Ab 2 x 380
= 39.1 (N/mm2)
T KB 13.1 (N/mm?)
T8 39.1 (N/mm?)
0 ba(N/mm?2) T ba (N/mm2)
4.6 120.0 90.0 OK
6.8 210.0 150.0 OK
8.8 290.0 200.0 OK
10.9 380.0 270.0 OK

1.00

RC




T kB=Qmax/ (nsb Ab)

= 15873/ ( 2x 380) = 20.9 (N/mm?)

T KB

2 ( 2 )
(DK
a =145°
Qk =N (sina -f" cosa )-Q (cosa +f' sina)
f*=0.5( )
0° 50° QK
N (sina - Q (cosa +

N(kN/m) Q(KN/m) f* cosa ) f* sina ) Qk(KN/m)
32 32 33.703 19.109 -7.876 20.893 -28.769
32 33 33.703 19.109 -7.876 20.893 -28.769
33 33 24.343 19.721 -5.689 21.562 -27.251
33 34 24.343 19.721 -5.689 21.562 -27.251
34 34 15.880 16.977 -3.711 18.562 -22.273
34 35 15.880 16.977 -3.711 18.562 -22.273
35 35 9.479 11.433 -2.215 12.500 -14.715
35 36 9.479 11.433 -2.215 12.500 -14.715
36 36 6.043 4.029 -1.412 4.405 -5.817
36 37 6.043 4.029 -1.412 4.405 -5.817
1 1 6.043 -4.029 -1.412 -4.405 2.993
1 2 6.043 -4.029 -1.412 -4.405 2.993
2 2 9.479 -11.433 -2.215 -12.500 10.285
2 3 9.479 -11.433 -2.215 -12.500 10.285
3 3 15.880 -16.977 -3.711 -18.562 14.851
3 4 15.880 -16.977 -3.711 -18.562 14.851
4 4 24.343 -19.721 -5.689 -21.562 15.873
4 5 24.343 -19.721 -5.689 -21.562 15.873
5 5 33.703 -19.109 -7.876 -20.893 13.017
5 6 33.703 -19.109 -7.876 -20.893 13.017

K Qkmax = 15.873 (kN/m)
1Ring Qkmax = Qkmax B = 15.873x 1000 = 15873 (N/Ring)
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Qmax = -19.721 (kN)

Qmax = -19.721 x 1000 = -19721 (N/Ring)

T8
Qmax 19721
TB= =
nsb  Ab 2 x 380
= 25.9 (N/mm2)
T KB 20.9 (N/mm?)
T8 25.9 (N/mm?)
0 ba(N/mm?2) T ba (N/mm2)
4.6 120.0 90.0 OK
6.8 210.0 150.0 OK
8.8 290.0 200.0 OK
10.9 380.0 270.0 OK

1.00

RC




T kB=Qmax/ (nsb Ab)

= 30059/ ( 2x 380) = 39.6 (N/mm?)

T KB

3 ( 3 )
(DK
a =145°
Qk =N (sina -f" cosa )-Q (cosa +f' sina)
f*=0.5( )
0° 50° QK
N (sina - Q (cosa +

N(kN/m) Q(KN/m) f* cosa ) f* sina ) Qk(KN/m)
32 32 54.978 33.852 -12.848 37.012 -49.860
32 33 54.978 33.852 -12.848 37.012 -49.860
33 33 37.743 35.560 -8.820 38.879 -47.699
33 34 37.743 35.560 -8.820 38.879 -47.699
34 34 22.109 30.868 -5.167 33.749 -38.916
34 35 22.109 30.868 -5.167 33.749 -38.916
35 35 10.271 20.872 -2.400 22.820 -25.220
35 36 10.271 20.872 -2.400 22.820 -25.220
36 36 3.911 7.366 -0.914 8.054 -8.968
36 37 3.911 7.366 -0.914 8.054 -8.968
1 1 3.911 -7.366 -0.914 -8.054 7.140
1 2 3.911 -7.366 -0.914 -8.054 7.140
2 2 10.271 -20.872 -2.400 -22.820 20.420
2 3 10.271 -20.872 -2.400 -22.820 20.420
3 3 22.109 -30.868 -5.167 -33.749 28.582
3 4 22.109 -30.868 -5.167 -33.749 28.582
4 4 37.743 -35.560 -8.820 -38.879 30.059
4 5 37.743 -35.560 -8.820 -38.879 30.059
5 5 54.978 -33.852 -12.848 -37.012 24.164
5 6 54.978 -33.852 -12.848 -37.012 24.164

K Qkmax = 30.059 (kN/m)
1Ring Qkmax = Qkmax B = 30.059x 1000 = 30059 (N/Ring)
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Qmax = -35.560 (kN)

Qmax = -35.560 x 1000 = -35560 (N/Ring)

T8
Qmax 35560
TB= =
nsb  Ab 2 x 380
= 46.8 (N/mm2)
T KB 39.6 (N/mm?)
T8 46.8 (N/mm2)
0 ba(N/mm?2) T ba (N/mm2)
4.6 120.0 90.0 OK
6.8 210.0 150.0 OK
8.8 290.0 200.0 OK
10.9 380.0 270.0 OK

1.00

RC




M h Rc K6 El
M (kN m)
h 0.150 (m)
X (m)
Ko 1
Rc 1.7 (m)
El 9281.25 (kN m)
M
h
0
0
-7.1
@

() () ( ) ( ) ( ) ( )
(KN m) (KN m) x(m) x(m) o (m) o (m)
24.802 -19.706 0.0550 0.0670 0.000432 0.000300
16.042 -13.666 0.0450 0.0510 0.000309 0.000248
29.682 -24.578 0.0450 0.0500 0.000571 0.000450
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W k (4 0.7 (cs-@ )) as Es € 7cs
k 1
c (mm)
h d
h 150 (mm)
d ( ) 115 (mm)
( ) 115 (mm)
cs 150 (mm)
(0} 13 (mm)
Es 210000 (N/mm?
€ “cs
150 x 10-6
O se (N/mm2)
@
0 se(N/mm 2) W(mm) 0 se(N/mm 2) W(mm)
1 162.000 0.217 83.800 0.130
2 149.300 0.203 103.500 0.152
3 277.700 0.347 193.000 0.252
@
0.005 c (mm) 0.1750 0.1750
0.004 c (mm) 0.1400 0.1400
0.0035 c (mm) 0.1225 0.1225
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